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1. Which amo ol o
n ] ] 1 -
2 the lollowing is mor o borrowed feature of the Indian Constitution from

I'he Constitution ol the United States of America ?

(1) Fundamentg) rights
(2) I*‘undamemaldulies

(3) Preamble
(4) Impeachment of President

ﬁﬁ%@ﬁﬁﬁﬁwmwmmﬁmmm T SEARE &
ﬁﬁiﬂﬁ'ﬁwwt—ﬁr@%?

(1) 9T Al

(2) wifers acder

(3) ST

(4) regafy =1 HeIfrgeT

2. Which of the Constitutional Amendment Acts of The Indian Constitution reduced the
minimum voling age from 21 years to 18 years ?

(1) 52nd Constitutional Amendment Act (1985)
(2) 86th Constitutional Amendment Act (2002)
(3) 92nd Constitutional Amendment Act (2003)

(4) 61st Constitutional Amendment Act (1989)

TRl R B e et et PR 3 SEeT woe oy 21 ad
q gemT 18 af &7 & 7

(1) S2ai e Hsire ST (1985)
(2) s6ai dferar dsiree st (2002)
(3) 92a wfRyuTT e s (2003)
(4) 61ai it deaw wfafaw (1989)
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3. "Equality belore the law and qual protection of law" under Article 14 ol The
Constitution ol India is available to whom ?
(1) Citizens (2) Non-citizens
(3) Both (1) and (2) (4) None of the above

WA dfdue & argedw |4%mﬁ“mﬁ%mﬂﬂwaﬁrwm
T qwwr! 5 Sqoey 8 ?

(1) iR (2) -
(3) (1) 3 (2) AT (4) IUAH F Qq Fg A

4. The Protection of Civil Rights Act, 1955 was cnacted to give effect to which provision
of The Constitution of India ?

(1) Article 17 (2) Article 24
(3) Article 25 (4) Anicle 31

TR AR G iy, 1955 wRa @ d@RwE & geaE w®
THEl A B e srfufeafa ey mar on ?

(1) STg=8% 17 (2) org=0% 24
(3) | 25 (4) ST=RT 31

5. A command asking a public authority to perform its public duty is called the Writ

'+) ST .
(1) Certiorari (2) Habeus Corpus
(3) Mandamus (4) Prohibition

Gl E o EC s D i iy o R G B e s I E e T S L o S |
<% 1 -0l = N RT e AT B

(1) IeEer (2) 9t TIERTOT
(3) TR (4) TEe
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6. "To protect and improve the natural environment including forests, lakes, rivers and
wildlife and to have compassion for living creatures" is. for every citizen of India :

(1} A fundamental duty

(2) A fundamental right

(3) A legal right

(4) None of the above

‘o, W, ARl ol awehdt afea sfre autarer @ wen ol gur &N
T ST W $ 9y @ @ awa $ w@w AmRe & R ¥

(1) b Tifers aien
(2) T Hiferr TRt
(3) TF T AR
@) I 7 F g T

7. In some cases, a crime is constituted even though the act is not done with guilty
intention. These are cases of 7

(1) Vicarious liability
(2) Liability of State
(3) Strict liability
(4) Joint liability

HE Al #, T & & AW e §/ A Bur T &, g woTeA fH
ST &1y A 8 7

(1) siaffar aifae
(2) TG W aTAE
(3) FHT A
(4) "3 A
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8. Which of the following is presumed under law to be 'Doli incapax’ to commit a crime ?
(1) A child under 7 years of age
(2) A child of under 10 years of age
(3) A child above 7 and below 12 years of age
(4) A child between 10 and 14 years of age

Brfofag § § B BrE B T80 WY &Y & M S gAedas’ A
ST R ? -

(1) 7 a§ & HH G =T F==0 ,
(2) 10 af | A MY BT T
(3) 7 o & s T 12 af A BT og B S
(4) 10 | 14 af i Mg & ST H F=q
9. Incase of a free fight between two parties ;
(1) Right to private defence is available to bnlth partiés
(2) Right to private defence is available to individuals against individuals
(3) No right of private defence is available to either party
(4) Right of private defence is available only to one party
QA w B G g TR B A -
(1) et s=mE F1 SRR AT 98 @ IoereT §
(2) Pl s=mE F ofteR aReal & fes kel @ Sude B
(3) Rt o uzr i ol s=g @ S iR Suwer 8 ®
(4) Pl s=mg 1 AR Fa OF gu @ Iud 8

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A)



10. The term "Homicide" in criminal law means ?
(1) Killing of a human being by another human being
(2) Accidental death in shipwreck
(3) Killing of an animal by human beings
(4) Killing of the animal by another animal
ANAAE FHrgA A “eedr”’ srex @ ored B ?
(1) FFE 937 a0 gu@t a9 & e
(2) sieTT gHe § gdeas gy
(3) Fre 7= & el agp @ e
(4) Frel o9 ug ERT 9y AN we

11. 'A’ promiscs to marry B his student and inducted her 1o cohabit with him. 1lc has
given her a false assurance of marriage and also (raudulently gone through certain
ceremonies of marriage, making ‘B’ belicve that she was a lawfully wedded wife of 'A’.
Later ‘A’ refused to recognize her as his wife. What offence has been committed by

'‘A'?

(1) Rape

(2) Adultery

(3) Outraging the modesty of a woman

(4) 'A’ has committed no offence

LBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A) P.T.O.
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Wﬁﬁﬁm%mﬁaﬁﬁwzﬁwaﬂﬁwﬁm?wmfﬁm
ﬁﬁﬁr@ﬁgﬁﬁ%,ﬁﬁﬂﬂﬂ'ﬁﬁlmﬁw%ﬁﬁﬂﬁﬁﬂ%ﬂmﬁm i
Eﬂﬁ"ﬁﬁﬂ%ﬁﬁ%laﬁﬁ'ﬁ'%aﬁaﬂiﬁﬁﬁﬁqﬂwmﬁ
=T T Tl A S Be-ar ey B 7

(1) IR
(2) &AL

(3) Fpet nfeem @1 o W91 FHE
@) 'A' T g Iy FE w8

12. Hindu Law is:

(1) Civil Law (2) Personal Law

(3) Criminal L.aw (4) Constitutional Law
I%“g HIJA e

(1) R s (2) TR FEA

(3) SIufs HEEA (4) dam=E HrgA

13. The marriage may be solemnized between two Hindus if :

(1) Bridgegroom has completed the age of 21 years and Bride has completed 18 years
of age

(2) Bridgegroom has completed the age ol 18 years and Bride has completed 21 yecars
of age

(3) Bridgegroom has completed the age of 21 years and Bride has completed 21 years
of age

(4) Bridgegroom has completed the age of 18 years and Bride has completed 18 years
of age
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14.  What arc the main sources of Muslim Law 7

(1) Quran (2} Sunnat and Ahadis
(3} Tjma and Qiyas (4) All of the above
gfees A & g W o F 2
{1) T (2) g afrt el
(}) ===1 ofv Frma (4) TR Ul
15. What is the age of puberty for Muslim Marriage 7
(1) 12 years (2) 13 years (3) 14 years (4} 15 ycars
g fEr & R diaq e STy Fm B 7
(1) 129 {2) 13 &nf (3) 14w (4} 1574

16. Compctency 1o contract ralates to
(1) Age of the parties
:] (2) Soundness of mind of the partics
{1) Hoth aze ond snupndness of mind

(4} Intellipence of the parties

BLEBHJ-EE~Jone, 2024/(LL.IL(1lons.) Five Yr.(SET-YNV(A) T.0.




ITEY FTA A Arar RpAR wdiaa § 7
(1) 9&ft =i ang
(2) 9af N AETES e
(3) g A A T &l
(4) Tl & gRams
17. "Consensus ad idem" under a contract mean ?
(1) No agreement can have more than one meaning
(2) To agree the same way
(3) To agrec on the same thing with the same sense
(4) To agree on different objects in the same sense
IET F il wdar @ o § 7
(1) Rl ot ey o1 ws ¥ ot ored A€l & T
() @ & T @ we
(3) @ & = 9x uw @ o1t H wena e
(4) o & oref # Rf awgell W wewa aF
18. The Law of Torts has developed mainly through ?
(1) Customs and precedents (2) Judicial decisions
(3) Enactments (4) All of the above
A @l FF g 9 | s wror § Refea gen & 7
(1) dfr-Fam ok Prarwd (2) = Frog

(3) eTfuiay (4) I9=h =N
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18.  The doctrine of vicarious liability applies when thereisa ............ i

20.

(1) Relationship of principle and agent

(2) Relationship of parties

(3) Relationship of master and servant

(4) All of the above

afates qifde & frsia aa ar e & 919 ... Gl
(1) Rrmia ofk o&fe &1 dea

(2) wEt v W /

(3) @it IR T T Ay

(4) IU=F Gt

The concept of law largely depends on the :

(1) Social valucs

(2) Accepted norms

(3) Behavioral patterns of a particular society at a given time
(4) All of the above

FH B STIIRT HH BT TH 5@ W AR w8
ORUGLECR-

(2) HEige A

(3) et Fiidea oag & e 9w oo & =R e
(4) S9UH |
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21. Look at this series : 12, 11, 13, 12, 14, 13, .......... What number should come next p:
TH ofmen @ @ : 12, 10, 13,12, 14, 13, ..o, 6D GG G TS AE
=feq ?
(1) 10 (2) 16 (3) 13 (4) 15

22. Study the following data carefully and answer the questions accordingly. 4 3 83385
35583585434835538354485. When the 16th number from the right end is
added to the 17th number from the left end. which of the following numbers will

result ?

Frfoafaa e @ wrgde aregs @t ofiv qagar S99l & I 145833
85355835854348355383544851 59 & 81X T 164t dEn i ard

BR & 1741 e # st o §, @ Prefafga § @ $9 @ den ara sl ?

(1) 6 Q) s 3) 9 (4) 8

23. Ravi is a son of Aman's father's sister. Sahil is the son of Divya who is the mother
of Gaurav and grandmother of Aman. Ashok is the father of Tanya and grandfather of
Ravi. Divya is the wife of Ashok. How is Ravi related to Divya ?

(1) Nephew (2) Son
(3) Grandson (4) Data inadequate

W, a1 & ar Y gex &1 A= B wfew R=nr &0 7 B OS Tg & A7
ST aTHT I TRY 21 939, arvgr & e ol W @ gy & e, srehes &
ol B U o R @ sy dE g P

(1) HersT (2) e
(3) Qe - (4) 2T Ut
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24. Read the follvwing instrictions ©

LA T mdiemes A ds the brother of 13

i A - Bindicates A e sister of Boand

i A s [ mdicates A is the fnther ol B

Which of the following means thal O is the son al'M 7
F=fafie Bdn a2

i, A+Doavlm B R A N o ud 2

i, A-D e¥Rm B R A, B 91 == R AW

i, A=) Ty ® T r"l...“ o e B

et A dfmmrad B R MmgEe 7
(I M=-NuxC+T MF-C+N=xM
(I N=M-1FxC HYMxN-LC+F

Study the Information given befow carcfully and amvwer the fatfowing question 15 fo
ar

There arc 12 persons (A, B, C, D, E, F, 1%, QR S, 1, U) scated in two different rows ig. row-
| and row-2. A. B. C. D, F and F ure seated in row-| focing south and P, (), B 5, T and 1
are seated in cow- 2 facing notlh, Members of bath the rows face cuch other. A is seated al
the exireme right end of the row. |15 sitting diogoeally oppesite to A 1 s faging the ine who
is immediately lelt of E. P is seated al the extreme end of the row. s facing the one who
sits third to the right of I R faces the immediate neighbour of B R does oot face DU s
seated ot the extreme end ol the row. 118 seated second 1o the dght of B, 5 does not face D
Q laces B.

BLBILI-EE-June, 2024/{L.L.B.{Hons.) Five Yr){SET-Y)/(A) T, 0.
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25. Which of the following pairs sits at the extreme left ends of both the rows ?

(1) Cand P (2) Aand B (3) Sand T (4) Eand U
Frefaad § § & |51 et Ff URedl @ 998 9] B9 O J2T 5 7
(I) CaTP (2) A3TB (3) ST (4) E3fm U

26. How many people sit between S and T 2

SR THEFa T ar = T 7
(1) 1 (2) 4 (3) 2 (4) 3

27. Who among the following sits third to the right of E ?
Feidiaa T § S E & ad fot e v Je1 & 7
(1) C (2) A (3) B (4) F

28. Study the following arrangement carefully and answer the questions given below :

387 876 176 285 721 937. In each number, when we added 1 to each odd digit and 2 is
subtracted from each even digit, then which number will be lowest ?

i =aedr &1 AFyEs A=99 H¢ AN A" Bu e 95t § a3 ¥
387 876 176 285 721 937 ¥ HEAT H, 59 &9 Y& [@uH HF ¥ | FAr=q
X 9% 99 9% U 2 g°id &, af 9 O Wegr §999 e 267 ¢

(1) 387 (2) 876 (3) 176 (4) 285

Ak

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A)
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29. IfGOLDis wrinen as IQNF. How WIND can be written in the code ?
a2 GOLD =t IQNF f3ar =t &, & WIND = 7rs 5= e & &9 & 7
(1) YKPF (2) VHMC (3) XJOE (4) DNIW

30. IfRED is Coded as 6720. then how GREEN would be Coded ?
T RED = 6720 =T ST % ar {.JRLI‘\' = 5= w=mw T IS ?
(1) 9207716 (2) 1677199 (3) 1677209 (4) 167172009

31. If in a code language "ORGANISATION" is written as "CBDWLQJWYQCL" and
"OPERATION" is written as "OXFBWYQCL". how is "SEPARATION" coded ?
% B FE W ¥ "ORGANISATION™ # "CBDWLQIWYQCL" Rver S 8
"OPER.\IID\" =/ "OXFBWYQCL" f&&r =imar &, @ "SEPARATION" F!
f’*-" TwIT [T AT 7
(1) EJXEBEYQCL (2) JFQYWBCXQL
(3) JFXWBWYQCL (4) QCLYWBFXIJE

32. How many tmangles are there in the following figure ?

Fr=iaiaa SERT J s BEe © 7

(1) 18 (2) 12 (3) 14 (4) 16

33. 10 years ago, a father’s age was 3 and 1/2 times that of his son. and 10 vrs from now,
the father's age will be 2 and 1/4 times that of the son. What will be the sum of the ages
of the father and the son at present ?

(1) 100 yrs (2) 110 yrs (3) 115 yrs (4 120 vrs

10 ad usd, UF [ar & Ag S§% 93 H g = 3L T A, 5w o F 10
Ty =%, far &t ang g3 & eng @ 24 gmérmlaﬁ'm?ﬁiﬁ—r AR gF T
AT H AT =T &N 7

(1) 10039 (2) 11059 (3) 115ad (4) 120

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A) P.T.O.
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35,

36.

37.

A

The zverzge of 9 numbers is 40. Il the average of the first five numbers is 38 and that

i

of the 1zt five is 50, then what is the fifth number ?

o ==msT =7 oET 40 ¥ g gl 6y wemel @ ofred 38 3 ot oifam
&g =7 ahga S50 B, dr oradl dem F e ?

(1 90 (2) 84 - (3) 78 (4) 80

Rs. 820 is divided among 6 men, 8 women and 12 boys in such a way that every
woman gets an amount equal to that received by one man and onc boy combined and
that every man gets one and half times the amount received by a boy. What is the total
amount reccived by 8 women ?

(1) Rs. 400 (2) Rs. 300 (3) Rs. 240 (4) Rs. 380
BZDHﬁﬂ?TﬁgFﬁT,anﬁwaﬁa?r{ tzmﬁr%aﬁammmm%ﬁs
qﬁﬁﬁﬂ%ﬁnzﬁwgﬁaﬂ?@aﬁﬁﬁwmﬁrﬂﬁ%wnﬁr
ﬁﬂﬁ%aﬁnﬁ%wﬁ%mﬁzﬁﬁaﬁmmﬁwﬁaﬂrﬁls
afeemall @ g e i el ?

(1) To 400 (2) B0 300 (3) To 240 (4) To 380

Select the set in which the numbers are related in the same way as are the numbers of

the following sct :

wﬁzﬁwﬁﬁmﬁﬁ@ﬁmﬂmﬁﬁﬁﬁﬁ%%ﬁﬁﬁﬁwﬁ—mﬁﬁz
F AT € '

(3,24, 4)

(1) (6,35, 11) - (2) (2.30,8)

(3) (12, 84.4) 4) 4,.72,9)

Which two signs should be inlcrchangcd to make the given equation correct ?
14+4+5-18x2=25

(1) +and + (2) x and + (3) x and - (4) +and x

Ru 7o @i @ @@ a9 & e B A RBEl S 9@l ggeen e ?
14+4+5—18x2=25

(1) + o+ (2) x ST+ (3) x 3 - (4) + a7 x

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A)
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38. If it is possible to make only one meaningful word with the 3rd. 6th, 8th and 10th

letters of the word 'COMPLIMENT", which would be the third letter of the word from
the left 7 If more than one such word can be formed, give *Y" as the answer. Il no such
word can be formed. give 'Z' as your answer.
A 'COMPLIMENT st & oY, 82, amed aliv aud onrl O &ad U6
QYT T g Ga B, O eres @7 and O @ et de-an g 7 afd O
& ofts W@ o= 99 @y ¥, @ ok & w9 A 'Y dfwe afx Y@ @R o=
el 9 @Rl B, & IO & w9 7 'Z' L)

my 2) T (3) I ) =

39. A person starts walking from point G. He walks 10m north and reaches point 11 From
point H, he walks 7m in the east direction and reaches at point K. From point K. he
walks 6m south and rcaches point Y. Now he takes a right turn and walks 4m to rcach
point B. Afler reaching point B he starts walking in the south direction and reaches
point M, which is east of point G. What is the shortest distance between point B and
point M ?

(1) 6m (2) 7m (3) 4m (4) 3m

wF @R Rig G @ @1 g& ST 81 g8 10 Hex I @ MY = & ol
Rig H o qg=ar &1 fig H @, g8 gd Ram & 7 e woar 8 X &g K W
ggmar B Rig K @, @8 6 #ex s @ oY Toar 8 ok fig Y ox ggEem
¥ o9 g5 @ gear & ofk Rig B w¥ wgEd & Riq 4 diex =w@en B fEg B
9 YESY & a1 g e R § @en ge s ¢ ofR Rig Mgt g @
S Rig G & gd § ¥ fig B o Rig M & da =gam o 71 8 7

(1) 6#ex (2) 7 A (3) 4 wrex (4) 3 Hrex

40.  Which number in the given series is incorrect ?
& T Sfuem F HA-A A TATE T
11, 30, 67, 120, 219, 346
(N 11 (2) 120 (3) 67 (4) 346

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A) P.T. O.
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ing guertiont an idiom phrase i

fn each of the follow .
meaming Ul Ing

Directions : (@ Nox 41 1o 45/
te optian which best expresses Hhe

given. Choose the most approprig
idiom phrase

41, Callitaday:
(1) Daylime
{2) Stop working on something
{3) Open minded
{4} Straight [rward

42. Let the catout of the bag.
(1) I'ree the cal (2) Solve the nddle

{31 Allow a sccret 1o he known {4) Bell the cat

43, Jump on the himdwagon.
{1} Betwcen the rails
{2) Join the movemenl
{3) Owverwhelmed al the moment

(4) Join a popular activity

44, Queer the pitch.
(1) Spoil a plan
(2} Reveal seeret Information
(3) Unexpectedly
(4) hesitantly

45. Rule of thumb,
{1} Forecast Ihe future
(2} broadly accurate guide or prineiple
(3) disorder
{4) Suspeet trickery

BLOILJ-EE-June, 2024/L1L.B.(Ilons.} Five Yr.}(SET-Y)/(A)
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In Questions 46 to 50, Ch :
=" aose ”]'[,—_"‘ option “a" ‘-J : TR N fpper f ' ’
given word. P tich is opposite in meaning (Antonym) of the

46. Abrogate
1) Approv .
( pprove (2) Abolish (3) Eradicate (1) Plunmet

47. Apostale

desert :
(1) descrier (2) traitor (3) loyalist (4) aflordable
48. Bequest

(1) Endowment (2) Request (3) Belief (4) Withdraw

49. Convulse

(1) Calm (2) Quiver (3) Counsel (4) Repale
50. Ossify _
(1) Rigid (2) Shrink (3) Shudder (4) Solien

In Questions 51 to 55, Choose the option which is nearest in meaning ( synonym) of the

given word.

51. Panache
(1) flamboyance (2) Spiritless
(3) Pathetic (4) Gutless

52. Resuscitate
(1) Destroy (2) Annihilate (3) Revive (4) Exterminate

53. Scourge

(1) blight (2) boon (3) afflict (4) sacred
54. Trudge
(1) Whisk (2) Drift (3) Float (4) Stumble

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A) r.T.O.
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55.

S6.

58.

39.

60.

B1.

62.

Wane

(1) Brighten (2) Decline (3) Ascend

Study of languages is called -
L1} Philology

13) Sioic (4) Celibate

One who copies from writers -

(1) Plagiarisi (2) Menagene (3) Scullens

One who has an over exaggerated fecling of beine important,

(1) Omniscient (2} Omnipotent
(3) Narcissist (3) Agnostic

Involving or showing violence or bloodshed.

(1) murder {2) Abdicate (3) Gon
What is the Plural of 'Qasis’ @

(1) Oases (2) Osces (3) Oacisis
TN A g A m oo oEg -

(1) s (2) H=TTH
(3) 9= (4) 7917
o Ry e

(1} T (2) &=
(3) Fad () Fr=
‘I g T OaigaTEn g R o

(1} =T (1) v
(3) =it (4) ¥

BLBHJ‘E E'JIII'IE‘.. 1“14!“.].;5.“'[“] !.l Five \'r_][SET_T ]_.I[A'j

(21 Epistemology

{4y Enlarze

(4) Abattoir

(4) homicide

(=1 Lsls



64.

635.

6.

69,

Fi8

‘Bl s Sear e 2

(1) FHE" (2) R

(3) TegE (4) ST

“arE TR A e B, @w o off W ogw A7 - 56 S 8
(1) = (2) Tow

(3) STZETH {4} Fgr

g U WA MR B, a9 =atde =5
(1) Bl 9T @0 S6ed sy ¥

(2) o6 "E & T B

(3) ST 9 90IT 9% T E

(4) =1 faw oh ¥

(1) e [ frems (2} Ferenfare e
(3} sordr yare faad (4) BiferfiaTive e
AT 9T ERI-TT YT Ree BT

(1) TETET=S (2) HaTHS

(3) gE=THE (4) TETEEE

FATH TS ool &, §OOlT aYr g o
Hie w4 dleT &0, &7 Fe 77 s
— & Uieat F Be-ar e 7

(1) otig T (2) dam «fme

(3) P =Y (4} o 4@
CprafeTE” § 59 e Wi 8§ 7

(13 9 (2) 11 (3} 6 (4) 7

+ BLBHJ-EE-June, 2024/(LL.B.{(Hons.) Five Yr.)(SET-Y)/{A) P.T.
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{2] %ﬂ;-lﬂ - g7

(1) =1 - gvax
(4) FET ~ I - A7

(3) FF - Fvgv

72, “gE W @ & gtz & FA-A A e A

(1) SEa=s (2) FAATEE
(3) =S (4) FHEATIF

73. Tm, P, o, 5 — 3 gdam B SET & TEAE g9 A ¥ o
(2) =9 IG5

(4) H7=ET ===

(1) S9rgargs
(3) Mygg am=s

74. ‘B °7 gfamy @y B A ged A1 T A - T9E 9T S aem koo

(1) |rarTeT amg (2) HgFT T
(3) e T (4) sEETEE Tr==m
Fed & -
(1) =fara= (2) Fafa=
(3) == (4) Fiaarz
76. Fra 97 stfwEm wmn 8, o Fed ¥
(1) saeren (2) STeaTITH
(3) g (4) aAPaoTe

77. S9ErTH AT @ U’ & =9 § F7 =brmw a2
(1) 14 fadaT 1949 35
(2) 26 51381, 1950 @y
(3) 15 a7, 1947 =t
(4) 14 F1187, 1952 7Y

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A)
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78. "3T9 ETN N wriem q wer REnt - gw ogwm ¥ Seemy 5 b

{”"FI'HTE-'TT-'-I' (2) oM 2m
(3) T 2 (4) T =

79. Wi W oved sggd 8 @m fweh wwat @ o @ wem @ w9 3
waed faar & 7

(1) 18 (2) 26 (3 15 (4) 22
g0, @, Y T T, ¥ GO I=EREY MM & IO 97 59 wEes 7

(1) FUed {2) e {3 =™ (4) 5%
g1. Who is known as the Iron man of India ?

(1) Sordar Vallabhbhai Patel {2) Subhash Chandra Bose

(3) Juwahar Lal Nehru (4) None of the above

witel & o ged & w9 A R s e 7

(1) AL geToAy 9EE (2) Yo =7 3E

(3) SRETET A A (4) FITIRE T 7 T A6
B2. Which Chinesc {raveller came to India during the reign of Harshavardhan 7

(1) I'o-Hein (2) Hiven Tsang

(1) Hikaru (4) None ol the above

erigds & qraTEE F @ T drl g wTe T e 7

(1) wieas (2) == el

(3) fewre (4) 3T § | =5 A6

83. Which India mass movement began with the famous Dandi March' of Mahatma
Ciandhi 7

(1) Khilafat Movement
(2) Quit Indin Movement
(3) Non Cooperation Movement

{4) Civil Disobedience Movement

BLBHJ-EE-June, 2024/(LL.B.(Hens.) Five Yr.)(SET-Y)/{A) P.T.O
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BY.

HLATRET |“|"" .I-I !Ii’ll" "'”l{l IH.-"I |I'" l“!’l 1”'1‘" . l"-l" l'r llll ‘1"'1"-‘1

SR

CEy Ty anldlensy
(AL IR AT G T
(W waen Mo

e elAang s e

Whio wiole Ve Matraen !

1y Walsodeananthy Tapone (2 Bankimeladen Chattenjer

(V8 Shoanat Cluden Chialtopamlhivay (4 None ol the above
e eey Joersy Yoqeeg o

(1) e tagen ®op (2) wlqareda wnedl

(V) Wi vl wpgYeaq by e il N and il

Do whibeh wear the Trabion Nations? Congress won established
o C0s | ET T TR T P AR TR T E PTG | I

(1) 1KS7 (2 1906 RINLLE (1) IHHI

Wi wies the Tnst riler of Lodbl Dyoosty '
(1Y Ehrahdone §oondhid

(Y Dalidal Lodid

ol v g aftan wmeen o oen 7
(1) gsnlnn ol

(3) mnaehior ofielt

(M) Sikonnder Hawlin

1y None ol the obaowve

(2 e el

(1 v 10 g sl

Which l-‘umluummli Right can peerr be suspended even during an emenpency !
(13 Right w Specch

(2) Right to Religlon

(M) Right o igualiy

(4) Right to hile anad personal liberty

NLML-EEATune, 202440 L00(1Honw) Five YedSET-Y)(A)Y
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fra i e a8 s 3 2n o Frefaa T e o aE w7
(1) =raor =& afa=mry

(2) v = =
(3) FuTen & Al
(4) Ii== 3t efrm v @7 afaET

g8. Who appoints the Chief Justice of India 7
(1) The President
(2) The Prime Minister
(3) Parliament

(4) None of the above

A & geA AEre @ Frgfe fm s § 7
(1) Tt

(2) marT H=

(3) HOz

(4) 3 # @ F TE6

£9. Who was the Chaitman of the Drafting Committee of the Indian Constitution ?

(1) Rajendra Prasad (2) Tej Bahadur Sapru

(3) C. Rajagopalachari (4) B.R. Ambedkar

vl TiaaE &t werEr aftfy & sremr S 8 7

(1) Tz oo (2) &= ==gT Wy

(3) Hite TeTFITATETH (4) o aTTo 2=y

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A) P
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90. Which of the following describes India as a Security State ?
(1) Fundamental Rights
(2) Prcamble
(3) Dircctive Principles of Statc Policy
(4) Nonc of the above
ﬁmﬁf@ﬁﬁﬁaﬁﬁwﬁrmgﬁﬂm%wﬁaﬁiﬁm%?
(1) #fes SRR
(2) Tl
(3) = Aifq & e E=d
(4) 96 F | Hg A

91. What is the name of the tax introduced by Indian Parliament in 2016 to unify the
indirect tax system in India ?

(1) Sales Tax
(2) Value added Tax
(3) Goods and Service Tax

(4) None of the above

A § GBRGe BT SR @ BT B B [ig 2016 7 ARG wEE =T
Aqr foFg T HT W AT T@T B 7

(1) ReEfl &Y

(2) e aft &

(3) AT X =T W
(4) IuH H | FE 7€

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A)
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. 92. Which of these gases is nof permitted 1o be released by the prevention and control of
Pollution Act by the Government ?

(1) Sulphur Dioxide
(2) Carbon monoxide
(3) Nitrogen Oxide
(4) All of the above

TR Farer ok e sftfem & ofdie @R @ o @ fRa T @
BISA & orEfy FET R ?

(1) G°HT SRaftaEs
(2) FEF TeTETERT

(3) BTN IlfeAEE
(4) IRE |G

93. What is Lunar Eclipse ?
(1) When Sun is between Earth and Moon
(2) When Earth is between Sun and Moon
(3) When Moon is between Earth and Sun
(4) None of the above
dx T wm e ¢
(1) 5@ g geht oix <=1 & 4 o @
(2) 59 gt g ofk <z & g &t B
(3) = == gedt o gt B 9w dar
(4) S9Tw H q B AL

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A) P.T.O.
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94. What is the theme of G20 Summit held in India ?

(1) One Earth-One Family-One Future
(2) Fighting Poverty
(3) To bring the world together
(4) All of the above
wﬁamﬁaezuwmﬁmzmﬁwm%?
(1) u gedt-usm qRE-0F AA=
(2) TR | g
(3) g =+t o [y
(4) IR At

95. In which year the "Beti Bachao, Beti Padhao” Campaign was launched by the
Governemnt ?

TR ERT “A gared, 38 qerelr”’ PEE RhY a9 gF S TEr o o
(1) 2014 (2) 2015 (3) 2016 (4) 2017
96. What is the architectural style of the Ayodhya Ram Mandir ?
(1) Gandhara (2) Gothic
(3) Nagara (4) None of the above
e I AR @ v e FJ@ e ?
(1) e (2) s
(3) TR (4) SUd=h F | W TE

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(A)
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g7. Which Indian bowler is bestowed with Arjun Award by President Draupadi Murmu ?
(1) Mohammad Shami (2) Josprit Bumrah
(3) Arshdecp Singh (4) Decpak Chahar

Wﬁﬁqﬂﬁ%ﬁaﬁnﬁuﬁmﬂﬁaﬁjﬂwﬂnﬂnﬁnﬁmrﬁ?

(1) o= i @) v g
(3) areEia e (4) & =T
98. Which Statc/UT has launched Disha Mobile App aimed at safety and security of
women ?
(1) Kerala (2) Andhra Pradesh
(3) Rajasthan (4) Haryana
Reg T/ o New A Afkened & g 3 azgm @ R MAga O
A= Rear & 7
(1) T (2) T SR
(3) T | | ‘ (4) s

99. Which Statc announced a monthly pension of Rs. 10,000 for the Padma Awardees from

the State ?

(1) Haryana (2) Punjab

(3) Rajasthan | (4) Kerala

;ﬁwﬁﬁmﬁ%ﬁmmwﬁ 10,000 593 HR¥H Yo7t GEOm H
4

(1) =i (2) 9=

(3) eI (tﬁ %{E-T

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)SET-Y)/(A) ' P.T.O.
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100. Which State cclebrates Shigmo Festival ?
(1) Goa (2) Karnataka
(3) Madhya Pradesh (4) Nonc of the above
R TR @A T g 8 7
(1) T (2) FATEE
(3) A w29 {4;3qfrrﬁﬁﬁa%’réa?ﬁ

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr)(SET-Y)(A)
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Directions :
irections : (0. Nos 110 5). In each of the following questions ar

Choose the most appropriale oplion which

1.

Let the cat out of the bag.
(2) Solv

Call it a day :
(1) Daytime
(2) Stop working on something

(3) Open minded

~(4) Straight forward

(1) Free the cat
6] Bell the cat

(3) Allowa secret to be known

Jump on the bandwagon.
(1) Between the rails
(2) Join the movement

3) Overwhelmed at the moment

(4) Joina popular activity
Queer the pitch.
(1) Spoil a plan
(2) Reveal secret I
(3) Unexpectedly
(4) hesitantly

nformation

Rule of thumb.

(1) Forecast the future

(2) broadly accurate guide or principle
(3) disorder

(4) Suspect trickery

BLBHJ-
HJ EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)

best expresses the meaning of the

e the riddle

) idiom/phrase 15 given
idiom/phrase:
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In Questions 6 to 10, Choose the optio

given word.

6. Abrogatc

(1) Approve (2) Abolish

7. Apostate

(1) deserter (2) traitor

8. Bequest

(1) Endowment (2) Request

9. Convulse

(1) Calm (2) Quiver
10. Ossify
(1) Rigid (2) Shrink

(3) Eradicate

(3) loyalist

(3) Belict

(3) Counsel

(3) Shudder

n which is opposite in meaning (Antonym) of the

(4) Plummet

(4) affordable

(4) Withdraw

(4) Regale

(4) Soften

In Questions 11 to 15, Choose the option which is nearest in meaning ( synonym) of the

given word.

11. Panache

(1) flamboyance
(3) Pathetic

12. Resuscitate

(1) Destroy (2) Annihilate
13. Scourge

(1) blight (2) boon
14. Trudge

(1) Whisk (2) Drift

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)

(2) Spiritless
(4) Gutless

(3) Revive

(3) afflict

(4) Exterminate

(4) sacred

(4) Stumble

Bl



15.

16.

17.

18.

19.

20.

271,

wane

() Bﬁthcn (2) Decline (3) Ascend (4) Enlarge
Study of languages is called :

(1) Philology (2) Epistemology

(3) Stoic (4) Celibate

One who copics from writers :
(1) Plagiarist (2) Menagerie (3) Scullery (4) Abattoir

One who has an over exaggerated feeling of being important.
(1) Omniscient (2) Omnipotent

(3) Narcissist (4) Agnostic

Involving or showing violence or bloodshed.
(1) murder (2) Abdicate (3) Gory (4) homicide

What is the Plural of 'Oasis' ?
(1) Oases (2) Osees (3) Oaeisis (4) Osais

ao=l @l gfie A g = w9 B

(1) I (2) =9
(3) g9 ' (4) 9=
‘Fgref’ 9Tes & faey 9= ®
(1) 9gzared (2) erHiet
(3) Hard (4) <frepref
g g T wEEaE 9= P
(1) I (2) 3199
(3) F (4) AT

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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24. B s A e aurg R

(3) v (4) sTerdter

25. TATE S @) oo BT, A9 1@ off o w87 — zad orein B
(1) 9% « 2) ¥
Q) g™ (4) 3I9HT

26. WWWGW%,FRWWQ%:
(1) BTl 9% @i Ao ary ¥
(2) off@ &% & ol ¥
(3) AT I Yo gz Wi ¥
(4) 98 Rawr ol ¥

27. “HRPN B WX AR gErH S AT ¥

(1) Tmarq Ris ‘Reasy (2) Frenfrara frer

(3) &0 waE fEas (4) AfRERET It
28. ‘TR ST HIF-AT (TOT ey T ? |

(1) ToTaT=eh (2) ®9aTH

(3) TS (4) deETaTEF

29. FavH I T Fl, GIA! G JHA |
| e & Hied 84, a7 HE Al T 11
— 39 dfeat § d-ar ™ e 7

(1) stid ¥4 (2) FART YR
(3) fauer=q &R (4) STgya ™
30. “IHARTHHR” H FHeT fHad Hie & ?
(19 (2) 11 (3) 6 4) 7

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)



31.

32.

34.

~ 35.

36.

37

e’ s T Oel div-Relw a@hr

(1) @t + geaT Q) wEE + A

(3) ®f + geax (4) R + 3T + a7
“geTar’ WS AT W gfte F B G5 wEard D7

(1) HEFar=EHh (2) snferemreres

(3) |AfRTa=® (4) TEaT
ﬁg,m‘ﬁ,ﬁé,ﬁ?&ﬁ-&wmw%ﬂw:ﬁw%;
(1) s (2) T=rer qrer

(3) Me=aa arers (4) 9= g

‘AT WX UgEHT @ B @t = @ T A — g g ey g 2
(1) TTERET TRy (2) HgFT A
(3) Fafd | (4) STe=dgas areE

FA G B A YEY B B FET o B, AR Ak waar R, ar od
Fed B ¢ |

« if1) CAGIEE] - (2) FatyET (3) HAIAT (4) wfgat
ﬁmq*rafﬁ@mwm%,‘ﬁﬁ%:
(1) STz (2) =T
(3) Srf¥gerT ' (4) Ry
2T oy o asefaify’ & ®©9 J w9 Wi 6T 1@ ?
(‘1) 14 fqgaT 1949 =t (2) 26 SHa, 1950 =pt
(3) 15 377&q, 1947 =t (4) 14 3T1&, 1952 =pt

A A Y FHEmE H AFT REr’ — 39 g § @ A

(1) @ A (2) T A

- (3) wEE A 4) T A
§

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P.T.O.
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39. WRwr A owedt oty F e Rl welt @ s A W9 & g o
e frar mar & 2

(1) 18 (2) 26 (3) 15 4) 22
40. T, ¥ T T, ¥ ot IR W B U qT FAT BEenry T ?
(1) Tz Q) @ (3) ™ (4) q==

41.  Which among the following is mor a borrowed feature of the Indian Constitution from
The Constitution of the United States of America ?

(1) Fundamental rights
(2) Fundamental duties
(3) Preamble

(4) Impeachment of President

Wﬁﬁﬁﬁ??ﬁwﬂ?ﬁqﬁﬁuﬁaﬁﬁmmwaﬁﬁm%
AU |/ IUR T8 o 0 B ?

(1) Afes stferepr

(2) AifeTH Hcter

(3) g=amE=T

(4) Irgafcr 1 HqeIEnT

42. Which of the Constitutional Amendment Acts of Thg Indian Constitution reduced the
minimum voting age from 21 years to 18 years ?

(1) 52nd Constitutional Amendment Act (1985)
(2) 86th Constitutional Amendment Act (2002)
(3) 92nd Constitutional Amendment Act (2003)

(4) 61st Constitutional Amendment Act (1989)

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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mm%mﬁg?mﬁmwﬁwmq%wm%m q;
(1) S2at wfaur @ srfafas (1985)
(2) 86at dfaarr demes arffEm (2002)
(3) 92at dfawur denus arfafrm (2003)
(4) 6lai dfaa demus srfafra (1989)

43. "Equality before the law and Equal protection of law" under Article 14 of Ty,
Constitution of India is available to whom ? ‘

(1) Citizens (2) Non-citizens

(3) Both (1) and (2) (4) None of the above

R WU & T 14 & Ted CFALT B AH FHEA A F
TEE T’ Ry Sueey B 7 |

(1) Arie (2) IR-ATRH
(3) (1) sk (2) ==t (4) U6 H 4 I3 7o

44. The Protection of Civil Rights Act, 1955 was enacted to give effect to which provision
of The Constitution of India ?

(1) Article 17 (2) Atticle 24
(3) Article 25 (4) Article 31

AR S GRET STfafEH, 1955 WRG ® E@Ru & g g@ue @
oqE B B e sfuRrate e T er ?

(1) eTg=s% 17 (2) oTg=8T 24
(3) STg=]T 25 (4) Tg=sE 31

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P.T.O.




45,

46.

47.

B

A command asking a public authority to perform its public duty is called the Writ
OF spsmvainss .

(1) Certiorari (2) Habeus Corpus
(3) Mandamus (4) Prohibition

Reft oot Rt @ ot o e P @ P @ed A
STRST Y oovnnnl Re war smar 8

(1) S&woy (2) =€ gerefimTor

(3) gTERST (4) Py

"To protect and improve the natural environment including forests, lakes, rivers and
wildlife and to have compassion for living creatures" is, for every citizen of India :

(1) A fundamental duty

(2) A fundamental right

(3) A legal right

(4) None of the above

wﬁﬁamﬁ@%nﬁrwm”w%mﬂvﬁzﬁ%m%:

(1) g% Aids i

(2) T% Aifes R

(3) T HrET AfEHR

(4) U<k F | g 7L

In some cases, a crime is constituted even though the act is not done with guilty
intention. These are cases of ?

(1) Vicarious liability

(2) Laiability of State

(3) Strict liability

(4) Joint liability

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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@Wﬁﬁ,ﬂ%ﬁﬁﬁﬁ@%ﬁqua,mqm

ST ¥ 1A W ¥ 7 T R
(1) R e

‘(2)'{IWEFHE®ET

(3) FX TAE

(4) € A

48. Which of the following is presumed under law to be 'Doli incapax' to commit a crime ?

(1) A child under 7 years of age
(2) A child of under 10 years of age
(3) A child above 7 and below 12 years of age

(4) A child between 10 and 14 years of age

Frfefag ¥ @ B FF & d8d AT HA & U SR gAhded’ =T
ST 8 7

(1) 7 a9 | &9 AT Hl =T

(2) 10 g & FF ATY H T

(3) 7 ad ¥ Afere MY 12 ad | HHA Y H w=AT
(4) 10 § 14 ¥ & AP & =" H F=AT

49. In case of a free fight between two parties :
(1) Right to private defence is available to both parties

(2) Right to private defence is available to individuals against individuals
(3j No right of private defence is available to either party

(4) Right of private defence is available only to one party

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P.T-0.
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ﬁmﬁ%@ﬁﬁ?ﬁm%mﬁ:
(1) Foft soma a1 s 1wt @y gaerer 3
(2)%%@@%%%%@&%@%%
(3)W=ﬂwaﬁﬁvﬁmmaﬁs‘eﬁﬁwwwﬁ%
(4)ﬁvﬁamamra®w$aawwﬁmﬂ%

50. The term "Homicide" in criminal law means ?
(1) Killing of a human being by another human being
(2) Accidental death in shipwreck
(3) Killing of an animal by human beings
(4) Killing of the animal by another animal
amwfﬁzswﬁ”m”smme?é% ?
(1) F&st 197 awy TR 7T & wer
(2) ST&TT gt ¥ geferraer 9
() 8 79 3Ry R 9] W BT
(4)%@mwgmt@aﬁw
S1. 'A' promises to marry 'B' his student and inducted her to cohabit with him. He has
given her a false assurance of marriage and also fraudulently gone through certain

ceremonies of marriage, making 'B' believe that she was a lawfully wedded wife of'A’.
Later 'A’ refused to recognize her as his wife, What offence has been committed by

'‘A'?

(1) Rape

2) Adultery

(3) Outraging the modesty of a woman
(4) 'A’ has committed no offence

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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A oo e B! @ [@A® &R # gue AT B AW 3@ e mm vy 2
Rrq AR@ wxr B 1 Sa IW Rae F1oger AT Rar ¥ oqm faw g
o oy A gt A, e B @ fagara & R B oaw A A g
w9 @ Refed o=t B am & A’ 7 3@ TN I B @Y F e mey @
FAHR HX A 'A' F Hr-ar etauy fFHar B 7

(1) SaTEHIR
(2) =R¥ER
(3) foudlt Afeem &1 i w1 T
@) A" 7 R Ty T fHar ®

52. Hindu Law is :

(1) Civil Law (2) Personal Law

(3) Criminal Law (4) Constitutional Law
fEg A @ -

(1) fafas =wr (2) TEFA HEIA

(3) ST HILA (4) Genth HrLT

53. The marriage may be solemnized between two Hindus if :

(1) Bridgegroom has completed the age of 21 years and Bride has completed 18 years
of age |

(2) Bridgegroom has completed the age of 18 years and Bride has completed 21 years
of age

(3) Bridgegroom has completed the age of 21 years and Bride has completed 21 years
of age

(4) Bridgegroom has completed the age of 18 years and Bride has completed 18 years
of age

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P. T 0L



12

54,

58.

56.

DA RGN F e fare o B wwar B -

(1) 8T 98 J 21 ad ) oy gt o% ot ¥ oM ay A 18 af B G TH a5y
& 8

(Z)ww%Isaﬁaﬁaﬂggawsﬁ%eﬂwag'ﬁzl‘aéa%m@m
Sl

(3_)arwﬁzla¢a%e¢rgg&waﬁ%aﬂrag%21zrsfzﬁemgiﬁw
ot B

(4)61‘{%1%ISHéa%Gﬂggﬁmsﬁ%aﬁTag%lSaﬁfEﬁGﬂﬂ‘I&W
ot B

What are the main sources of Muslim Law ?

(1) Quran (2) Sunnat and Ahadis

(3) Ijma and Qiyas (4) All of the above

IR FIF D =g G w=w ¥ 2

(1) BT (2) =T oIR =l

(3) 391 R (4) I G+

What is the age of pubc;rty for Muslim Marriage ?

(1) 12 years (2) 13 years (3) 14 years (4) 15 years
R et & R A @ omg g @ 2

() 12ag (2) 13 a9 (3) 14 as (4) 15 a9

Competency to contract relates to
(1) Age of'the parties

(2) Soundness of mind of the parties
(3) Both age and soundness of mind

(4) Intelligence of the parties

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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Ty R A A PR e § 7

(1) geff &t 37y
(2) welt @ AEfHE TEeeEn
(3) oTg o wHAfHe w@werar AT
(4) qell = ghen
57. "Consensus ad idem" under a contract mean ?
(1) No agreement can have more than one meaning
(2) To agree the same way
(3) To agree on the same thing with the same sense
(4) To agree on different objects in the same sense
STy & Il ‘wdERy @w @ o1 ¥ 7
(1) fopt st a9l &1 o @ o1fes a1ef =8t 8 gepar
(2) T & e | geAad e
(3) TH & I1d 9T Tk B 7 H FwEnd s
(4) wF & o F R qegell W aEHa aF
58. The Law of Torts has developed mainly through ?
(D éustoms and precedents (2) Judicial decisions
(3) Enactments (4) All of the above
T F FHIA &I ®U A fhads Aremy § fawfaa gam ® 7
(1) dfg-fa=r ok famt (2) =ty Aol

(3) aAfafa= (4) IuU=p gt
BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P.T.O.
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59. The doctrine of vicarious liability applics when thereisa ............ .
(1) Relationship of principle and agent
(2) Relationship of partics
(3) Relationship of master and servant

(4) All of the above

(1) R=ia ol wSie 7 ey
(2) 9t @1 dayg
3) @t X Qg F1 Gay
(4) STA=H T+
60. The concept of law largely depends on the :
(1) Social values
(2) Accepted norms
(3) Behavioral patterns of a particular society at a given time
(4) All of the above
HLT P FAIURON HH 8 q% 36 G Ao Hdt B
(1) | g9
(2) wiga s
(3) fft Pifvera T A Rt RA T B smEerR e
(4) IUA=H Tt

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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61. Who is known as the Iron man of India ?

(1) Sardar Vallabhbhai Patel (2) Subhash Chandra Bose

(3) Jawahar Lal Nehru (4) None of the above

qRa B e ysY B wy § FY S sar @ 7

(1) G@R ace9qIE g (2) g¥e =z Ay

(3) STETEY T ABE (4) IUA<H H [ HF 7H
62. Which Chinesc traveller came to India during the reign of Harshavardhan ?

(1) Fa-Hein (2) Hiuen Tsang

(3) Hikaru | (4) None of the above

gdgdq & mEAHE #§ @ @r S aEh wea e o9r ?

(1) wiear (2) @& @

(3) fewre (4) SUdh & @ P T

63.. Which India mass movement began with the famous 'Dandi March’ of Mahatma
Gandhi ?

(1) Khilafat Movement
(2) Quit India Movement
(3) Non Cooperation Movement

(4) Civil Disobedience Movement

Teredr el B oufs ‘i A B A WRa B 9 o9 ke I8
gt 7

(1) Rearea sTicie=

(2) R BIET A&

(3) ITBIFT 3Rl

(4) G ofasT A&

64. Who wrote Vande Matram ?
(1) Rabindranath Tagore (2) Bankimchandra Chatterjee
(3) Sharat Chandra Chattopadhyay _ (4)* None of the above

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P. L. O
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65.

66.

67.

a‘&mm%ﬂﬁ%@r?
(1) wE=mer i C(2) dfpTER TSl

(3) IR Hx TR Ry (4) 3ueh & | Hg TE

In which year the Indian National Congress was established ?

RASIEIR iR T T pa— fher ad gd o 7
(1) 1857 (2) 1906 (3) 1885 (4)~ 1881

Who was the Jast ruler of Lodhj Dynasty ?

(1) Tbrahim Lodh; (2) Sikander Lodhj
(3) Bahlol Lodhj (4) None of the above
a’ltﬁdsraﬂeifhwsmasa%?m?

(1) s=nfew e (2) FaT wirefy

Q) el e (4) ST & § FF

Which Fundamenta) Right can nor be suspended even during an emergency ?
(1) Right to Speech

(2) Right to Religion

(3) Right to Equality

(4) Right to life ang personal liberty

BLBHJ-EE-Jupe, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)



B |
8. Who appoints the Chief Justice of India ?
(1) The President
(2) The Prime Minister
(3) Parliament

(4) None of the above

wra ® ge Eey 3 Fgie S wer ® 7
(1) i

(2) s =3t

(3) dus

(4) ITH | | FE ALK -

69. Who was the Chairman of the Drafting Committee of the Indian Constitution ?

(1) Rajendra Prasad

(2) Tej Bahadur Sapru

(3) C. Rajagopalachari

(4) B.R. Ambedkar

AT GfgaE & qaer afffa & ot 9 g 7
(1) T S

(2) T FRIGT TY

(3) o TSI

(4) o ARo HIASHT

' BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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70.  Which of the following describes India as a Security State ? .

71.

(1) Fundamenta) Rights

(2) Preamble .

(3) Directive Principles of State Policy

(4) None of the above

Wﬁfﬁaﬁﬁﬁqwaﬁ@ww%mﬁaﬁhm%?
(1) T arfyg

(2) g=aTE=T
(ﬂm#ﬁ%%h&-ﬂmﬁq@iﬁ
(4) STOH F A P T

What is the name of the tax introduced by Indian Parliament in 2016 to unify the
indirect tax system in India ?

(1) Sales Tax
(2) Value added Tax
(3) Goods and Service Tax

(4) None of the above

wﬁm&waﬂmﬁ@wm%mzomﬁwmm
U BT T A T A oy 7

(1) fsht =<

(2) 3 afe 3T
(3) = Y Tar Y
(4) ST F | B T

BLBHJ~EE-J une, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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72. which of thesc gases is nof permitted to be released by
pollution Act by the Government ?

(1) Sulphur Dioxide
(2) Carbon monoxide
(3) Nitrogen Oxide

(4) All of the above

gguor Farer ofiw Feser sfefem & sfofa @esm @ g 3
Bigd & oAty FE R ?

(1) IH STRIATFAES
(2) HET AASAEHRAES
(3) TELSH iR
(4) IR T+

73. What is Lunar Eclipse ?
(1) When Sun is between Earth and Moon
(2) When Earth is between Sun and Moon
(3) When Moon is between Earth and Sun
(4) None of the above
% TS T B 7
(1) ST§ gd gt ofX =51 & & 8l ©
(2) ST gt gF oI == & = Bl ©
(3) I TEET gt iR gd & A" B @
4) SUs H | aa—g el

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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74.  What is the theme of G20 Summit held in India ?
(1) One Earth-One Family-One Future
(2) Fighting Poverty
(3) To bring the world together

(4) All of the above

mawmczowwmmmm%?,
(1) T gedftuss gRar-us s

) T & @

) FFET B ww T qEy

(4) S T

75. In which year the "Beti Bachao, Beti Padhao" Campaign was launched by the
Governemnt ?

FOPIT SR A& qeall, A0 wareh” v e o s R arn ?
(1) 2014 (2) 2015 (3) 2016 (4) 2017
76. What is the architectural style of the Ayodhya Ram Mandir ?
(1) Gandhara (2) Gothic
(3) Nagara (4) None of the above
(1) g (2) s
| (3) AFT (4) IUARE F q BHE &

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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B which Indian bowler is bestowed with Arjun Award by President Draupadi Myep,, 9
(1) Mohammad Shami (2) Jasprit Bumrah
(3) Arshdeep Singh (4) Deepak Chahar
Wﬁ%ﬁﬁ%%ﬂmﬁﬁﬁﬂﬁ@%ﬁWM%?
(1) AEE R (2) sTasiia FAE
(3) el Riw (4) & =TET

78. Which State/UT has launched Disha Mobile App aimed at safety and security of
women ?
(1) Kerala (2) Andhra Pradesh
(3) Rajasthan (4) Haryana
Rre /AR eTiad SRy X Afeened @ gRen @ Seed A Rew dEma o
at= fpar 8 7
(1) @ (2) o R
(3) TR (4) sR=om

79. Which State announced a monthly pension of Rs. 10,000 for the Padma Awardees from

the State ?

(1) Haryana (2) Punjab

(3) Rajasthan (4) Kerala

qgH QRERR fasianett & R R Te| T 10,000 99 Wi SerT @ AT S
g7

(1) == (2) deT=

(3) TR (4) A

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P.T.O.
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80. Which State celebrates Shigmo Festival ?
(1) Goa (2) Karnataka
(3) Madhya Pradesh (4) None of the above
UL LI L R S — HeTar ® 7
(1) Mar (2) Ftee
- (3) 9y gy 4) SUOF & A HE
81. Look at this serics : 12, 11,13, 12, 14, 13, .......... What number should come next ?
AT B A 12, 11, 13, 12, 14,13, ... 55® 9w A9 & der ST
=feq ?
() 10 (2) 16 (3) 13 (4) 15

82. Study the following data careful‘l

(1) 6 ()5 (3) 9 (4) 8

83. Ravi is a son of Aman's father's sister. Sahil is the son of Divya who is the mother
of Gaurav and grandmother of Aman. Ashok is the father of Tanya and grandfather of
Ravi. Divya is the wife of Ashok. How is Ravi related to Divya ?

(1) Nephew (2) Son
(3) Grandson (4) Data inadequate

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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ﬁ,m%ﬁm#aﬁwh%laﬁaﬁww?ﬂ%ﬁ 5

Mg
mmﬁmﬁ%nmﬁm,m%ﬁmaﬁriﬁ%m%sﬁm il

qeft B U T Rem @ r Ay B 7 ) AN
(1) STt (2) A=
(3) Har (4) T At

ga. Read the following instructions :

i. A+ Bindicates A is the brother of B

ii. A —Bindicates A is the sister of B and

iii. A x B indicates A is the father of B

Which of the following means that C is the son of M ?
fFr=feiaa et ag

i, A+Baiar 2 @ A, B &1 o8 B

ii. A-B gufar ¥ &5 A, B & @8 & IR

iii. AxB gofar & f% A, B & faar

et S A s T e C, M BT gT 8 7
(1) M=NxC+F 2) F-C+NxM

B) N+M-FxC 4) MxN-C+F

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P.T.O.
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Study the information given pelow carefully and answer the following question g5
87 : |

There are 12 persons (AB,C,D,E, F, P, Q, R, S. T, U) seated in two different rows i.c, Tow. |
Land row-2. A, B, C, D, E and F are scated in row-1 facing south and P, Q, R, S, T"anq
are scated in row- 2 facing north. Members of both the rows face each other. A is seated 4
the extreme right end of the row., T is sitting diagonally opposite to A. T is facing the one Why,
is immediately left of 2. p is seated at the extreme end of the row. B is facing the one
sits third to the right of P. R faces the immediate neighbour of B. R does not face D. ¢ it

seated at the extreme end of (he row. F is seated second to the right of B. S does not face D.
Q faces B.

f##WWWWwaﬁ?ﬁmﬂ@amss @87 # 3oy

12 saf%s_ (A,B,C,D,E, F, P, Q,R, S, T, U) & srerr-arer dRpal § &2 & ot dfy.
laﬂTQﬁ?—ZIA,B,C,D,EG‘?{TFdﬁﬁ-I A aferr ) ok gw wd A2 ¥ oiw p
Q, R, S,TaﬁTl{dﬁsdﬁwﬁaﬂzg@rm%%aaﬁm%m

85. Which of the following pairs sits at the extreme left ends of both the rows ?
(1) Cand P (2) Aand B (3) Sand T (4) Eand U
ﬁ’ﬂﬁf{\sﬁﬁ‘@raﬁwww&rﬁdﬁﬁﬁ%mﬁwww%%?
(1) C3fxp (2) AT B (3) ST (4) EairU

86. How many people sit between Sand T ?
SR T 3 N9 by T 32 & 7
(1) 1 (2) 4 (3) 2 4) 3

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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g who among the following sits third to the right of E ?
8l ‘

ereafeiad § @ A1 E & ad @Ay @ 9 der ¥ 7

M C 2) A (3) B

25

4

(4) F

50, study the following arrangement carefully and answer the questions given below -

: 387 876 176 285 721 937. In each number, when we added 1 to each odd digit and 7 ;
_ i i
subtracted from each even digit, then which number will be lowest ? ;

frfafad STarar &1 ermyds st & S A= Ru 1T 997 3§ gy 3

387 876 176 285 721 937 sl deam ®, 19 &9 A% 9T @iF ¥ | ey y
g S A T ok A 2 wery ¥, A A dem qm@ 9F a2

(1) 387 (2) 876 (3) 176 (4) 285

g9. 1f GOLD is written as IQNF, How WIND can be written in the code ?

afk GOLD = IQNF ferar sienm 3, o WIND @t foba srebre feram s e & 2
(1) YKPF (2) VHMC (3) XJOE (4) DNIW

90. IfRED is Coded as 6720, then how GREEN would be Coded 7
gfX RED &l 6720 fowar sar 8, @ GREEN @t g 5 foran smam ?
(1) 9207716 (2) 1677199 (3) 1677209 (4) 16717209

91. If in a code language "ORGANISATION" is written as "CBDWLQJWYQCL" and
"OPERATION" is written as "OXFBWYQCL", how is "SEPARATION" coded ?

gz fFEl e W § "ORGANISATION" @ "CBDWLQIWYQCL" fv@r e 2
3w "OPERATION" @ "OXFBWYQCL" fr@m sirar 8, @ "SEPARATION" &
fopg R for@r s ?

(1) EJXEBEYQCL (2) JFQYWBCXQL

(3) JEXWBWYQCL (4) QCLYWBFXJE

‘BLBHJ—EE—J une, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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92,

93.

94,

95.

How many triangles are there in the following figure ?

Wﬂ@@%ﬁﬁﬁaﬁﬁgm%?

(1) 18 (2) 12 (3) 14 (4) 16

10 years ago, a father's age was 3 and 1/2 times that of his son, and 10 yrs from now,

the father's age will be 2 and 1/4 times that of the son. What will be the sum of the ages
of the father and the son at present ?

(1) 100 yrs (2) 110 yrs (3) 115 yrs (4) 120 yrs

loaﬁqzé,qaafﬁmaﬁraﬂgw%gaaﬁanga%%g:ﬁeﬂ,aﬁmﬁlo
aﬁm,ﬁmﬁanggaaﬁaﬂ'gaﬁzﬁﬂfﬁévﬁaaénﬁﬁﬁmeﬁ?gaaﬁ
HAG H FRT T ey ?

(1) 100 a< (2) 110 a9 (3) 1159y (4) 120 a4

The average of 9 numbers is 40. If the average of the first five numbers is 38 and tha
of the last five is 50, then what is the fifth number ?

9#@13%%3%40%13%%%@@7@%@%38%@?%
fﬁaasra?maso%,a‘rtﬁa‘cffﬁww%?

(1) 90 (2) 84 (3) 78 o (4) 80

Rs. 820 is divided among 6 men, 8 women and 12 boys in such a way that every
woman gets an amount equal to that received by one man and one boy combined and

that every man gets one and half times the amount received by a boy. What is the total
amount received by 8 women ?

(1) Rs. 400 (2) Rs. 300 (3) Rs. 240 (4) Rs. 380

Szomﬁéw,sqﬁmﬁaﬁilzmésﬁasﬂwmwéﬁs
T AR B TH IE¥ R ok @B @ P W air 3 g€
W%aﬁmwﬁwaﬁﬁﬁﬁmmé@ﬂﬁw%ns
Aiearetl w1 A fEasr afar el ?

(1) 52400 (2) 2300 (3) 5o 240 (4) 50380

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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geleet the set in which the numbers are related in the same way as are the Numh
the following sct :

gq q¢ H T HY Brad deant sl ave d ddfva ¥ A B

& ded ¥ e e
3,24.4)

(1) (6,35, 11) (2) (2,30, 8) (3) (12, 84,4) (4) (4,72,9)

s of

97. which two signs should be interchanged to make the given equation correct 9
14+4+5-18%x2=25
(1) +and + (2) xand + (3) x and - (4) +and x
Ru M FHET B FE g B forg B A e Bl I a@em T g o
14+4+5-18x2=25
(])+e$|'{+ (2) x 3T+ (3) x 3P - (4) + 3T x

g8. If it is possible to make only one meaningful word with the 3rd, 6th, 8th and |0y
letters of the word 'COMPLIMENT', which would be the third letter of the word from
the left 2 If more than one such word can be formed, give "Y' as the answer. If no sych

word can be formed, give 'Z' as your answer.

a2 'COMPLIMENT' g/ & &raR, ©2, amed oY sdd el 4 39 us
A1 ST ST GvE B, O 9eE @ ad & Ed STER -1 B 7 Al o
F ot 09 g a9 9 B, a 9o & w9 # 'Y @ ok Tar w8 g
Tl 99 GFaT B, I I B ©9 HA 'Z' AR

(Y 2) T (3) 1 4) z

99. A person starts walking from point G. He walks 10m north and reaches point H. From
point H, he walks 7m in the east direction and reaches at point K. From point K, he
walks 6m south and reaches point Y. Now he takes a right turn and walks 4m to reach
point B. After reaching point B he starts walking in the south direction and reaches
point M, which is east of point G. What is the shortest distance between point B and
point M ?

(1) 6m (2) 7m (3) 4m (4) 3m

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B) P.T.O.
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100.

B

@W%G%mg«mtnwmwmaﬁraﬂtw%
%Hwﬁﬂmtlﬁsnﬁ,wwmmet%mmgw
W%lﬁgKﬁ,%ﬁﬁwWﬁmﬂw%mﬁgYw%
&newasm&gsmﬁeﬁrfangrqgaﬁ%m4ﬁaw%Lﬁi§B
Wﬁaﬁ%wmﬂwmﬁmg@m%mﬁquw%,
ﬁﬁgc%ﬁﬁ%'ﬁgBWﬁSM%ﬁﬂaWaﬁm%?

T e @ 7T G4 @3 A

Which number in the given series is incorrect ?

A TR JEA F P g 7w T ?

11, 30, 67, 120, 219, 346

(H 11 (2) 120 (3) 67 ©(4) 346 .

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(B)
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1. Which among the following is nof a borrowed feature of the Indian Constitution -
The Constitution of the United States of America ?

(1) Fundamental rights
(2) Fundamental duties
(3) Preamble

(4) Impeachment of President

Freffem & & @9 W ardg dfem ® v @y s aiRe 2
du | SuR 7@ oft vE B ?

(1) A arfmr

(2) AT FHdx

(3) ST

(4) Trsgafey 1w

2. Which of the Constitutional Amendment Acts of The Indian Constitution reduced the
minimum voting age from 21 years to 18 years ?

(1) 52nd Constitutional Amendment Act (1985)
(2) 86th Constitutional Amendment Act (2002)
(3) 92nd Constitutional Amendment Act (2003)

(4) 61st Constitutional Amendment Act (1989)

I Hqe & fea dqefe delew st ¥ ghes gaes omg 21 ad
q g 18 af & & 7

(1) 52af wfer e sl (1985)
(2) 86ai wfae welew stfefEE (2002)
(3) 92ai wfaaw deles sRfFEE (2003)
(4) 6lai wfaar deies smafas (1989)

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) P.T.8;
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3. "Equality before the law and Iiqual protection of law" under Artlclfz 14 of The
Constitution of India is available to whom ?

(1) Citizens (2) Non-citizens
(3) Both (1) and (2) (4) None of the above

Wl WRE & oy 14 & qeq e B aHer @aml R dE
T RO Y Suerey & 7

(1) [ (2) -
(3) (1) 3 (2) =Y (4) U H q HE e

4. The Protection of Civil Rights Act, 1955 was enacted 1o give effect to which provision
of The Constitution of India ?
(1) Article 17 (2) Article 24
(3) Article 25 (4) Article 31

TRE R d@Rerr e, 1955 IR & @RYH & g ggue 5
T A B o siifrafyg frar T e ?

(1) srg== 17 (2) STg=!|T 24
(3) STT=!= 25 (4) aT=R% 31
S. A command asking a public authority to perfoﬁn its public duty is called the Writ
. (R ;
(1) Certioran (2) Habeus Corpus
(3) Mandamus (4) Prohibition
Rl T SR B o wdeR ader R 3 R sy o)
SR B ... Re =t smar B
(1) ISrer _ (2) & geTafrRToT

(3) TERY (4) Fiy

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)




6. "To protect and improve the natural environment including forestg, lakes, rivers and
. ‘ " -
wildlife and to have compassion for living creatures™ is, for every citizen of India -

(1) A fundamentdl duty
(2) A fundamental right
(3) A legal right

(4) None of the above

“a, o, ARdt oM awgolidl wfed srpl wdieRer @ wn o ger g
Tqur sifae ot @ 9y &3 @A 9 & @ Arifie B fg D

(1) o A i
(2) T Afew R
(3) TH HT AR
(4) ITUH # A B ALY

In some cases, a crime is constituted even though the act is not done with guilty
intention. These are cases of ?

(1) Vicarious liability
(2) Liability of State
(3) Strict liability

(4) Joint liability

FHB "El H, WA & B AN e q T BRar T &), oy @ wed Rt
ST 2 A 8 7

(1) wfaffr il
(2) =T & A
(3) FBRX o™
(4) € M

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) P. T O



8. Which of the following is presumed under law to be 'Doli incapax' to commit a crime 9

(1) A child under 7 years of age ’
(2) A child of under 10 years of age
(3) A child above 7 and below 12 years of age

(4) A child between 10 and 14 years of age

Frafefed & & B o/ 3 qed oy @ & Rig SN STRYRT Ty
Sar g °?

(1) 7 a4 @ &9 g 1 g=ar
(2) 10 a¥ @ &9 Y H F=A7
() 7 a¥ § sifaw oM 12 af § 9 ong & F=
(4) 10 & 14 ¥ i o1y B fw B ==
9. Incase of a free fight between two parties :
(1) Right to private defence is available to both parties
(2) Right to private defence is availabler to individuals against individuals
(3) No right of private defence is available to either party
(4) Right of private defence is available only to one party
& st B G g woE B A
(1) =it F9m@ &1 fasR Al 98l @ U B
(2) =l =g &1 Afver atral & Oes aafeal #1 Sues B
(3) FEt <ft ger &1 o =@ H1 FE AR Iucey TE 2
(4)%@%%%@%@%’&%

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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10. The term "Homicide" in criminal law means ?
(1) Killing of a human being by another human being
(2) Accidental death in shipwreck
(3) Killing of an animal by human beings
(4) Killing of the animal by another animal
AMUEH HT A BAT’ UF pr Ivef § 7
(1) el 7™ a1 g Ag= A e
(2) STeT™T gHeAr § gHeEs gy
(3) Fpelt 7y Emr RReR gy @ e
(4) 6t o9 9y ERT 9y W een

11. 'A’ promises to marry 'B' his student and inducted her to cohabit with him. He has
given her a false assurance of marriage and also fraudulently gone through certain
ceremonies of marriage, making 'B' believe that she was a lawfully wedded wife of 'A".

Later 'A" refused to recognize her as his wife. What offence has been committed by
'A'?

(1) Rape
(2) Adultery
(3) Outraging the modesty of a woman

(4) 'A' has committed no offence

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) P.T.O.
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'A'Wﬁm'B'ﬁﬁmmmamam%amaﬁmﬁmm%
mﬁ%m%wﬁaﬁﬁmwwmmﬂﬂﬁm%wmﬁ@
W A A gl A Y, Brad B R e & R B a8 A R Reniyy,
w%ﬁﬁawﬁ%mﬁm*%aﬁaﬁﬁ%mﬁ@wma
FTPR BT RAT1 A" X D-ar arqzyer e 27

(1) ISR

(2) =fvErR

() Bt afRear @1 ha siv ey
(4) 'A' T FE Ty TS R
Hindu Law is :

(1) Civil Law

(2) Personal Law

(3) Criminal Law (4) Constitutional Law

%13513\:{%
(1) fafas = (2) TS B
(3) sTIfesh ST (4) e e

The marriage may be solemnized between two Hindus if :

(1) Bridgegroom has completed the age of 21 years and Bride has completed 18 years
of age

(2) Bridgegroom has completed the age of 18 years and Bride has completed 21 years
of age

(3) Bridgegroom has completed the age of 21 years and Bride has completed 21 years
of age

(4) Bridgegroom has completed the age of 18 years and Bride has completed 18 years
of age ‘

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)



QY Rgelt & fiv faw du= & qhar 8 afz

(1) ax 9&f F 21 g & ong g #T @ B ol ag I 18 af & oy gft w
Sl

2) ax Ter X 18 af & ong gf HF & B M ayg A 21 ad @ Ag g w7
Sil

G)ax g I 21 af & g gt H W B T ag A 21 a9 @ g Ih
S

@) aT g X 18 af i org T H & B oM g A 18 af M g If ¢
S

14. What are the main sources of Muslim Law ?

(1) Quran (2) Sunnat and Ahadis
(3) Ijma and Qiyas (4) All of the above
qRe™ HH B A G 418 7
(1) BT (2) g~ 3T s
(3) =91 IR fhare (4) IUTH G
15. What is the age of puberty for Muslim Marriage ?
(1) 12 years (2) 13 years (3) 14 years (4) 15 years
gfem faare & e des @ g = B 7
(1) 12ad (2) 13 a4 (3) 14 a4 4) 15ad

16. Competency to contract relates to :
(1) Age of the parties
(2) Soundness of mind of the parties
(3) Both age and soundness of mind

(4) Intelligence of the parties

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) P.T.0:



AT TR A A foad wifer B 7
(1) @it 7% amy . |
Q) T D weRyE eIy
(3) 913 M AR e A
(4) waft = gRawwr
17. "Consensus ad idem" under a contract mean ?
(1) No agreement can have more than one meaning
(2) To agree the same way .
(3) To agree on the same thing with the same sense
(4) To agree on different objects in the same sense
STIEY & I Tty @ gar aref § 7
(1) fFfl ot a9 o1 usp & arfers oref =&t & wepan
(2) TF & & | FweHad
() TH & I W TH & AF H Fqead
(4) T & o 7 fafr= qeqgelt w gead &
18. The Law of Torts has developed mainly through ?
(1) Customs and precedents (2) Judicial decisions
(3) Enactments (4) All of the above
A< A HLT G w9 A fpus Aemd § e gon €2
(1) afF-Ra= i fora (2) = Fofa

(3) stfafas (4) I9U=p gt
BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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The doctrine of vicarious liability applies when thereisa ...,
(1) Relationship of principle and agent

(2) Relationship of parties

(3) Relationship of master and servant

(4) All of the above

(1) Rrsia ok wSfe a1 gy

(2) el =1 Hajer

(3) @rt oM Fah FH ey

(4) ST A

The concept of law largely depends on the :
(1) Social values

(2) Accepted norms

(3) Behavioral patterns of a particular society at a given time

(4) All of the above

HILT H IR HH 88 0% 30 R B3R Fedt B -
(1) " gw

(2) Eipa Ares

(3) fre Fivea v & e RSy v 3 a9 Yo
(4) I9UH gt

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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21, Who is known as the Iron man of India ?

(1) Sardar Vallabhbhai Pate] (2) Subhash Chandra Bose

(3) Jawahar Lal Nehry (4) None of the above

W e gew B ww F Y o omer & 7

(1) 8= aeennd g3 (2) g == @

(3) AR W Yvw » (4) 3Tk A @ Hi TEH
22. Which Chinesc traveller came to India during the reign of Harshavardhan ?

(1) Fa-Hein (2) Hiuen Tsang

(3) Hikaru (4) None of the above

ﬁaﬁw%sﬂmmﬁaﬁwm%ﬂﬁmsﬁwmm?

(1) wifgams (2) =& T

(3) = (4) SUH A A i E

23. Which India mass movement began with the famous 'Dandi March' of Mahatma
Gandhi ?

(1) Khilafat Movement
(2) Quit India Movement

(3) Non Cooperation Movement

(4) Civil Disobedience Movement .
BAT 7

(1) Taemwa sridies

(2) 9T 8P erdET

(3) FTHSIFT 3TiET

(4) g rgsm ke

24. Who wrote Vande Matram ? '
(1) Rabindranath Tagore (2) Bankimchandra Chatterjee
(3) Sharat Chandra Chattopadhyay (4) None of the above

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)



g2 A fas Rmar ?
(1) iz R (2) sfpas et
(3) 9RT =@ I (4) IUAH H q P T8¢

In which year the Indian National Congress was established ?
adg g Hidd @ e e ad gg oo ?
(1) 1857 (2) 1906 (3) 1885 (4) 1881

25.

26. Who was the last ruler of Lodhi Dynasty ?

(1) Ibrahim Lodhi (2) Sikander Lodhi

(3) Bahlol Lodhi (4) None of the above
et ger a1 AfeH emEAE B ar ?

(1) genfes anelt (2) Raepax el

(3) FEarT et (4) ITUH A q B T8

27. Which Fundamental Right can nof be suspended even during an emergency ?

(1) Right to Speech

(2) Right to Religion

(3) Right to Equality

(4) Right to life and personal liberty

fopa AR SRR & ST & A ot feifaa 78f forar o Fwar & 2

(1) |97 T HATABR
(2) ad T IR
(3) FHECT & IR

(4) SfEas Y ARFIT We=ar @1 AfER

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) P.T.O.
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28.

Who appoints the Chief Justice of India ?
(1) The President

(2) The Prime Minister

(3) Parliament

(4) None of the above

W%Q@WTaﬁﬁgﬁ—ﬁzﬁ:{m%?
(1) Irsgafy

(2) I9= H§=h

() H8x

#) S 7 q D T

Who was the Chairman of the Drafting Committee of the Indian Constitution ?

(1) Rajendra Prasad (2) Tej Bahadur Sapru

(3) C. Rajagopalachari (4) B.R. Ambedkar

(1) 6= sE =" (2) &7 TEGR AY

| (4) dto Ao afATHT
Which of the following describes India as a Security State ?

(1) Fundamental Rights

(2) Preamble

(3) Directive Principles of State Policy

(4) None of the above

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)



31.

32,

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)

Freafefea 3 & AT AT B O GE T D WG F afthy g s 13

(1) = Srfarenr

(2) srEaTET

(3) w9 Afq & FRee i
(4) 390 A @ Hg ALl

What is the name of the tax introduced by Indian Parliament in 2016 unify the
indirect tax system in India ?

(1) Sales Tax
(2) Value added Tax
(3) Goods and Service Tax

(4) None of the above

AR H AU B UUMl bl THihd FA b 2 2016 § aRAg @69z amg
Q9T fHT T HT FHT A FT & 7

(1) f&shr &2

(2) 779 afdia +<

(3) 7T ST JaT HY
(4) STAH A | Hrs TSt

Which of these gases is not permitted to be released by the prevention and control of
Pollution Act by the Government ?

(1) Sulphur Dioxide
(2) Carbon monoxide
(3) Nitrogen Oxide
(4) All of the above

P.T.O.
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T Pt ohy fretsor eifefm @ stete aee B e & B R
BIER W orgafy TE R 2

(1) T STRTTRIES

(2) FEF AfeETRTT
(3) TEEST alffwarEs

(4) I i

33. What is Lunar Eclipse ?
(1) When Sun is between Earth and Moon
(2) When Earth is between Sun and Moon
(3) When Moon is between Earth and Sun
(4) None of the above
°% TEOT T R ?
(1) 59 §d gt ofR =1 & g Sy B
(2) 5= gt g ofR s & g B B
(3) v <= gul o) gd @ & @ @
(4) STAE J | Fg TE;
34. What is the theme of G20 Summit held in India ?
(1) One Earth-One Family-One Future
(2) Fighting Poverty
(3) To bring the world together

(4) All of the above

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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36.

37.

ad § ST G20 Rrex @ e & g = 2 2 5

(1) T get-us aRar-ush Afa=
(2) TR | TS

(3) g @t weh | @

(4) SUAH Al

In which year the "Beti Bachao, Beti Padhao" Campaign was launched by the

Governemnt ?

TXHT ERT CAS F=nal, A8 et HAfHAH fha ad g& fear mar o7 2
(1) 2014 (2) 2015 (3) 2016 (4) 2017

What is the architectural style of the Ayodhya Ram Mandir ?

(1) Gandhara (2) Gothic

(3) Nagara (4) None of the above

aTdreT IM HRY #H e At FJ@r R 7

(1) e (2) TTiferes

(3) AR (4) IUAH H q HIs e

Which Indian bowler is bestowed with Arjun Award by President Draupadi Murmu ?

(1) Mohammad Shami (2) Jasprit Bumrah

(3) Arshdeep Singh (4) Deepak Chahar

ey A gH A B ARA TawrT H o g & gt G E 7
(1) Aree ot (2) STEdT gHaE

(3) st e (4) &9k TrEx

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) P.T.O.
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38. Which State/UT has launched Disha Mobile App aimed at safety and security
women ?
(1) Kerala (2) Andhra Pradesh
(3) Rajasthan (4) Haryana

39.

PR T/Ex R e A wfewrelt @ gon & SRed @ R AEEa g
= Rear R 2

(1) I (2) iy w3er
3) TsEe (4) sftmmon

Which State announced a monthly pension of Rs. 10,000 for the Padma Awardees from
the State ?

(1) Haryana (2) Punjab
(3) Rajasthan (4) Kerala

9T TR a9are @ e R g 310,000 93 HRAE YT 9 Ao 5y
g7

(1) &R=men (2) doTE
(3) I (4) HTT

Which State celebrates Shigmo Festival ?

(1) Goa | (2) Karnataka

(3) Madhya Pradesh (4) None of the above
e Aecaa HF-91 99 "7l © 7

(1) e (2) #Ate®

(3) A W9 (4) SUUH H q FHE T

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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Directions : (Q. Nos 41 to 45). In each of the following questions qn
given. Choose the most appropriate option which best expresses the

idiom/phrase.

41.

42.

43.

44.

45,

Call it a day :

(1) Daytime

(2) Stop working on something
(3) Open minded

(4) Straight forward

Let the cat out of the bag.
(1) Free the cat (2) Solve the riddle
(3) Allow a secret to be known (4) Bell the cat

Jump on the bandwagon.

(1) Between the rails

(2) Join the movement

(3) Overwhelmed at the moment

(4) Join a popular activity

Queer the pitch.

(1) Spoil a plan

(2) Reveal secret Information
(3) Unexpectedly

(4) hesitantly

Rule of thumb.

(1) Forecast the future

(2) broadly accurate guide or principle
(3) disorder

(4) Suspect trickery

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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In Questions 46 to 50, Choose the option which is opposite in meaning (Antonym) of the
given word. '

46. Abrogate
(1) Approve (2) Abolish (3) Eradicate (4) Plummet

47. Apostate
(1) deserter (2) traitor

(3) loyalist (4) affordable
48. Bequest
(1) Endowment  (2) Reques (3) Belief (4) Withdraw
49. Convulse
(1) Calm (2) Quiver (3) Counsel (4) Regale
50. Ossify
(1) Rigid (2) Shrink (3) Shudder (4) Soften

In Questions 51 to SS, Choose the option which is nearest in meaning ( synonym) of the
given word.

$1. Panache
(1) flamboyance (2) Spiritless
(3) Pathetic (4) Gutless

52. Resuscitate

(1) Destroy (2) Annihilate
(3) Revive (4) Exterminate
53. Scourge
(1) blight (2) boon (3) afflict (4) sacred

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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54, Trudge
(1) Whisk (2) Drift
(3) Float (4) Stumble
55. Wane
(1) Brighten (2) Dcclin’e
(3) Ascend (4) Enlarge

56. Study of languages is called :

(1) Philology (2) Epistemology

(3) Stoic (4) Celibate
57. One who copies from writers :
(1) Plagiarist (2) Menagerie
(3) Scullery (4) Abattoir
58. One who has an over exaggerated feeling of being important.
(1) Omniscient (2) Omnipotent
(3) Narcissist - (4) Agnostic
59. Involving or showing violence or bloodshed.

(1) murder , (2) Abdicate
(3) Gory (4) homicide

60. What is the Plural of 'Oasis' ?

(1) Oases (2) Osees (3) Oaeisis (4) Osais

'BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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61.

62.

63.

Look at this series : 12, 11,13, 12, 14, 13, .......... What number should come next ?
T AEen B A 12, 11, 13, 12, 14, 13, ......... §ED A& B G FEAT A+H
aifeq ?

(1) 10 (2) 16 (3) 13 : (4) 15

Study the following data carefully and answer the questions accordingly. 4 5833 85
35583585434835538354485. When the 16th number from the right end is

added to the 17th number from the left end, which of the following numbers will
result ?

Wﬁ%mmawﬁahmqﬁ%wﬁmssm
8535583585434835538354485| 919 & 81X q 163F G&1 & aF
B & 1741 der § ster omar ?, O FrafeRag § @ @9 O dear ara enf ?

(1) 6 ()5 (3) 9 (4) 8

Ravi is a son of Aman's father's sister. Sahil is the son of Divya who is the mother
of Gaurav and grandmother of Aman. Ashok is the father of Tanya and grandfather of
Ravi. Divya is the wife of Ashok. How is Ravi related to Divya ?

(1) Nephew (2) Son
(3) Grandson (4) Data inadequate

M, = B Rar & Feq & Jer T AR Rew @ AT B oSN ARG @A
3P atHT F T B 19, Oar & faar ol A @ qer B R, siensw #
oot B < o R @ Fr g6y ® 7

(1) =TT (2) ser

(3) grar (4) 321 STuata

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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g4. Read the following instructions :
i. A+ Bindicates A is the brother of B
ii. A — B indicates A is the sister of B and

jiii. A x B indicates A is the father of B

Which of the following means that C is the son of M ?
frr=afafaa Adsr o -

i. A+Bauar® % A, B &1 98 B

ii. A-B 3ufar 8 & A, B & 589 8 oiX

iii. AxB gsriar 8 % A, B &1 far 8

fFrefofed 7 @ fraar ef 2 s C, M &1 g1 2 7
(1) M=NxC+F (2) F~-C+NxM
3) N+M-FxC (4) MxN-C+F

Study the information given below carefully and answer the following question 65 to
67 :

There are 12 persons (A, B, C, D, E, F, P, Q, R, S, T, U) seated in two different rows i.e. row-
I and row-2. A, B, C, D, E and F are seated in row-1 facing south and P, Q, R, S, T and U
are seated in row- 2 facing north. Members of both the rows face each other. A is seated at
the extreme right end of the row. T is sitting diagonally opposite to A. T is facing the one who
is immediately left of E. P is seated at the extreme end of the row. B is facing the one who
sits third to the right of P. R faces the immediate neighbour of B. R does not face D. C is
‘mwd at the extreme end of the row. F is seated second to the right of B. S does not face D.

Q faces B.

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) P.T.O.

‘2

i



22 a

TR @ T ATIG T eIt oramy w5 o PRI ST 65 @ 67 F gy
g
12aqf%ﬁ(A.B,C,D,E,r-‘,P,Q,R,S,T,U)aem-mmdﬁﬁzﬁﬁa%%aw’ia GfR-
leﬁTqﬁﬁ—zlA.B,C,D,Eaﬁ'{Fqﬁmlﬂﬂwﬁ@?ﬁam%@%mp,
QR S TMU 2 A aox ot olix g aed 32 21 2t ol B e
@-@%W%.Aﬁ%mm@rw%%mAawzm
htlT,E%mW%%%W%IP%%WWWW%
3IB,P%WWWW%%%W%IR,B%W@@%
w%lR,D%Wﬁ%IC%%MW@RW%%lF,B%GTQ'
wmw%%ls,D%wﬁﬁuQ,B%m%l

65. Which of the following pairs sits at the extreme left ends of both the rows ?

(1) Cand P (2) Aand B (3) Sand T (4) Eand U
ﬁ%ﬁﬁéﬁwﬁaﬁm%mwmwﬁ%?
(1) Ca3ixp (2) ATB (3) Sa=xT (4) EsfrU

66. How many people sit between S and T ?
SR T & fig fpa sir 92 & 7
(1 @) 4 (3) 2 4) 3

67. Who among the following sits third to the right of E ?

ﬁw%maﬁ%aﬁwlz%wfﬁﬁ%wmwaa%?
() C 2 A (3) B 4) F

68. Study the following arrangement carefully and answer the questions given below :

387 876 176 285 721 937. In each number, when we added 1 to each odd digit and 2 is
subtracted from each even digit, then which number will be lowest ?

ﬁwﬁf@awmw@mawﬁah‘%ﬁqmmﬁ%wéz

337876176285721937mﬁwﬁ,mmq@zﬁﬁwmﬁIsﬁs%%
aﬁrn@zsmafas@fzaa%%,a‘rzﬁ?ﬁﬁwmﬁtﬁaéﬁﬁ?

(1) 387 (2) 876 (3) 176 (4) 285
BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)




- 70.

71.

72.

73.

If GOLD is written as IQNF, How WIND can be written in the code ?
42 GOLD @ IQNF fwar strar 8, @ WIND =t f&ha sehre ferar s gaar 2 7
(1) YKPF (2) VHMC (3) XJOE (4) DNIW

If RED is Coded as 6720, then how GREEN would be Coded ?
a2 RED @ 6720 fwar star 8, @ GREEN @t e gepe ferar smam ?
(1) 9207716 (2) 1677199 (3) 1677209 (4) 16717209

If in a code language "ORGANISATION" is written as "CBDWLQIWYQCL" and
"OPERATION" is written as "OXFBWYQCL", how is "SEPARATION" coded ?

afy fpan R AT ¥ "ORGANISATION" @I "CBDWLQJWYQCL" forar smar 2
X "OPERATION" @ "OXFBWYQCL" fer@r sier &, a "SEPARATION" &
frg e forar s 7

(1) EIXEBEYQCL (2) JFQYWBCXQL
(3) JFEXWBWYQCL (4) QCLYWBFXIJE

How many triangles are there in the following figure ?

frefeRaa el § fopae Brager & 7

(1) 18 2) 12 3) 14 4) 16

10 years ago, a father's age was 3 and 1/2 times that of his son, and 10 yrs from now,
the father's age will be 2 and 1/4 times that of the son. What will be the sum of the ages
of the father and the son at present ?

(1) 100 yrs (2) 110 yrs (3) 115 yrs (4) 120 yrs

10 a9 uyeet, geh fem @ g IES G W MG H 37 TA A, R g § 10
aY @, fdr @ omg g @ g B 24 g:ﬂé?ﬁiaﬁqﬁﬁﬁmamgaaﬁ
3TY T N7 &7 BN 7

(1) 100 & (2) 110 o (3) 1159 4) 120 a9

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) P.T.O.
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74. The average of 9 numbers is 40. If the average of the first five numbers is 38 anq thy
of the last five is 50, then what is the fifth number ?

9!#@@#551@%340%:#&%?&%@@@%%38%%%
W oM S0 B, o urerdt e b 2

(1) % (2) 84 (3) 78 (4) 80

75. Rs. 820 is divided among 6 men, 8 women and 12 boys in such a way that Cvery
Wvoman gets an amount equal to that reccived by one man and one boy combined ang

that every man gets one and half times the amount received by a boy. What is the tota]
amount received by 8 women ?

(1) Rs. 400 (2) Rs. 300 (3) Rs. 240 (4) Rs. 380

820@&@6@,8“%@%6%123@%%3?WWW%%
mq%mﬁwgmmwawﬁmmwm%ww
m%mmmﬁwmaﬁrwmrwégwﬁw%is
ARl B gw Reh i i o

(1) 0400 (2) B0 300 (3) T0240 (4) o 380

76. Seclect the set in which the numbers are related in the same way as are the numbers of
the following set :

H ey ¥

(3,24,3)

(1) (6,35,11) 2) (2,30, 8)
(3) (12, 84,49) (4) (4,72,9)

77. 'Which two signs should be interchanged to make the given equation correct ?
14+4+5-18x2=25

(1) +and+ (2) x and + (3) x and - (4) +and x

R @ wfezer & aﬁaﬁ%mﬁﬁaﬁaﬁwwm?

14+4+5-18x2=25 |

(1) + 3T+ (2) x AT+ (3) x R - (4) +3fx x
BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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] 0 .

s [f it is possible to make only one meaningful word with the 3rd, 6th, 8th and 10th
etters of the word 'COMPLIMENT', which would be the third letter of the word from

the left 2 If more than one such word can be formed, give 'Y' as the answer. If no such
word can be formed, give 'Z' as your answer.

gt 'COMPLIMENT' st&x & @@y, o2, amed o za@d Aeridl & 3aa um
g = FE1 AW R, A 9= 1 and § ST 18 HiA-ar 8 ? af o
Q offrd U/ =X &9 g ¥, & gw B wy 7 'Y Qfw gk B a=
€ 9 GHAT B, A I B w7 7 '7 Oy g

MY ) T 3) 1 4) z

79. A person starts walking from point G. He walks 10m north and reaches point H. From
point H, he walks 7m in the east direction and reaches at point K. From point K, he
walks 6m south and reaches point Y. Now he takes a right turn and walks 4m to reach
point B. After reaching point B he starts walking in the south direction and reaches

point M, which is east of point G. What is the shortest distance between point B and
point M ? ‘

(1) 6m (2) 7m (3) 4m (4) 3m

wh ARD g G & I g% Fxar B g8 10 Hex I H A =Fgerar 2 2w
fig H X ggaar 21 fig H &, ag g Rem & 7 e =r@an 8 X fg K 97
ggaar 81 Rig K &, a8 6 MeY o1 &t ofx =@ar ® AR &g Y 97 ag=a
21 99 g8 TWQ Hg3aT @ X f&ig B X ug= & fo@ 4 Hex =wn 21 g B
W 9gad & 9% g8 &ferer Rem # e s w3 @ iR fbig M Uz ugEd B,
SiRig GH @ H T I Mg B AR RigM & &g a9 gt #1287

(1) 6Hex (2) 7 Hrex (3) 4 *Hrex 4) 3 Hex

80. Which number in the given series is incorrect ?
& T sEem ¥ D e T d ?
11, 30, 67, 120, 219, 346
(D 11 (2) 120 (3) 67 (4) 346

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C) PO
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81. N M 3w A g srsr =y B

(1) =9 (2) g=gra
(3) =™ (4) g=E
82, ‘@’ s= w1 ey o= B
(1) gxHTed (2) wmfet
(3) Famet (4) erapret
83. G = F yulwarht grer B
(1) R | (2) @199
3) =R (4) @rér
84. ‘Bl e= ¥ A-wr ww @
(1) FHYIRY (2) fagg
(3) TgeY (4) Ty
85. “amaaaﬁﬁaaw,@a@eﬁwwﬂ”—wﬁaw%:
(1) a9 (2) A9
(3) sTxImE (4) S9=T

86. S g wHH o B,  =fa o
(1) B 9% HY ey ey ¥
(2) I s & oy ¥
(3) ST T TR Us oy ¥

(4) 98 Raer el ¥

87. “HE B AR I aw B Awd ¥
(1) THard e ‘e (2) Feentema s
(3) &= gaE fEad (4) Aferefrereer e

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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88.

90.

91.

92.

93.

94.

SR TS B-A1 FRAdwor FHEewEr B ?
(1) JorarEh (2) wqar=
(3) QAN

(4) HeErEs
FavH T T Hl, Jch g JHA |

@e F HigT &8, A7 @R Al AT 11

— g9 dfEar # Prear ¥ 7

(1) et A (2) €A =Y

(3) v SR (4) 1ggd @
“ImERTHEE” 7 e e wis ¥ 7

(1) 9 ) 11 (3) 6 4) 7
“HAIIT’ TR BT T Hi-ferese Bem

(1) et + g9ax (2) FAT + aX

(3) fa + geax (4) T + 39T +4AT

‘T’ HHT ATHIT H g F HAE-AT HIAT HIARN & 7

(1) HrEars | (2) Srferareeh
(3) =afeRar=e (4) FEa=H

@,W,ﬁ,%ﬁ—&ﬁéﬂqﬁmw%aﬁwqﬁmﬁ%:

(1) | gaT=rh (2) =g grEFh

3) Mg g (4) IH=T a=s

‘B X ugEs 3@ B ol =2 | W Q7 — g7 g dar ae ® 7

(1) STe=eT g

(2) Hg= ar

(3) ™ are (4) STeedgas ae

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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95. W [T HIA AN Y&Y H ‘HR’ ey oy B, afx wfeer HEar A, @ oq

Eﬁﬁ g :

(1) sHRfh (2) Fafa=h

(3) AR (4) =ty
96. RrT X PN @ B, 38 ey ¥

(1) syaredt (2) sTeTETd

(3) srfvrgar (4) STfrarer

97. W%ﬁﬁ‘wﬁh’%mﬁm@w%ﬁmw?
| (1) 14 THFET 1949 %y

(2) 26 ST=HE, 1950
(3) 1531, 1947 oy
(4) 14 3713, 1952 &t

98. ‘STl &M I HEHET F wWrT R — 39 A F B A9 D
(1) 951 Ay (2) fefr
(3) AEAHE Qg @) a== A
99. wfaum 1 enedt SIgEN F @@ Reaht wWwel @ Us & W & =9 3
e fear T & 7
(1) 18 (2) 26 (3) 15 4) 22

100. &, & 9T §, g g0 I=ROT LH & YR U7 7 Feay 5 ?
(1) BUEd (2) T (3) T 4) g==

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(C)
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1.

| (3) Grandson

Look at this series : 12, 11, 13, 12, 14, 13, .......... What number should come next ?

SfEar R 12, 1, 13,12, 14, 13, .., 5008 &G st o wder syl
=iftg ?

(1) 10 ; () 16 (3) 13 ) 15

Study the following data carcfully and answer the questions accordingly. 4 583 3 8 5

'35583585434835538354485. When the 16th number from the right end is

added to the 17th number from the lefl end, which of the following numbers will
result ?

ﬁw%@aéammmgﬁmmmaﬁaﬁimmﬂ%a—m 145833
8535583585434835538354485) 5/ ardf 81X A 1681 dear w5 ard

B A 174 dem § Sher oEr B, O Prefefaa 8§ @ @ @ A e enfr ?

(1) 6 (2) 5 | 39 4) 8

Ravi is a son of Aman's father's sister. Sahil is the son of Divya who is the mother
of Gaurav and grandmother of Aman. Ashok is the father of Tanya and grandfather of
Ravi. Divya is the wife of Ashok. How is Ravi related to Divya ?

(1) Nephew 2 ; : (25 Son
(4) Data 1n'1dequatc

ﬁem%ﬁma%awméa%lw%aﬁwwaa%wﬁﬁwzﬁm

R o™= a5 oy 1 19T, W%ﬁwaﬁrﬁ%wﬁlﬁw awszﬁzsa%‘t
W%ltﬁraﬂﬁwﬁwwu%?

(1) sy L) QET

(3) grar "(4) 227 STaTie

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(®D) = R HEPITO



4. Read the following instructions :

i. A+ Bindicates A is the brothcr of B
1. A - B indicates A is the sister of B and

1ii. A x B indicates A is the father of B

Which of the following means that C is the son of M ?
Tt MRy 1@ -

1.

A+B 3icn ¥ 5 A, B @ g ®
fi. A-B o 3 % A, B & 929 & iR
li. AxB 3sean 8 %6 A, B o1 Rar 2

FrfeReaa & & Rhewr o 3 75 C, M &1 I ¥ 7

(D) M-NxC+F Q) F-C+NxM

(B) N+M-FxC 4) MxN-C+F

Study the information given below carefully and answer the following question 5to 7 :

There are 12 persons (A, B, C, D, E, F, P, Q, R, S, T, U) seated in two different rows i.e. row-
1 and row-2. A, B, C, D, E and F are seated in row-1 facing south and P, Q, R, S, Tand U
are seated in row- 2 facing north. Members of botﬁ the rows face each other. A is seated at
the extreme right end of the row. T is sitting diagonally opposite to A. T is facing the one who
is immediately left of E. P is seated at the extreme end of the row. B is facing the one who
sits third to the right of P. R faces the immediate neighbour of B. R does not,_féce D.Cis

seated at the extreme end of the row. E is seéted second to the right of B. S does not face D.
Q faces B. | .

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Fi\fe Yr:)(SET-Y)l(D)
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N D g’ s ar sl orerrr g ol sl v s @7 & gww & -
12 @Rn (A B GO B P, QUR S, T, U) @ aerr-aterT 4RFG § 33 ¥ orerfq uie-
LAy diRE-210 A, B, G D, B MR P dRs-1 & afier @ ol qm s 93 ¥ ok P,
Q R, 8, T ol U uRp-2 o I &)l ol q@ o a3 ¥ A GRedl 3 aee
UEH-qU W W B A URE @ 1€ g o) 9w 8T R T, A & famola: Radg
A T, 1A dw wd A3 @RE & wya ¥ P dRke & d9d st 8 9t Je
BB, P Ao QR wE R wis @ awgm ¥R, B B Freean gSrh @
WA RR, D & wouga w6 81 C uRke & wed sifom 8K 9 Y21 B0 F, B & e
TV W O QT By S, DD wagw T ¥ QB H wE B

5. Which of'the following pairs sits at the extreme left ends of both the rows ?
(N ‘C and P (2) Aand B 3) Sand T 4) EandU
FeldiRm 3 Q@ A gt 99 dRET & g9 ad 89X et ¥ 7
(1) CalxPp (2) ASIRB | (3) SalR T (4) EalRU

6. How many people sit between Sand T ?

SR T & N fpasr ar 33 § ?
(H 1 (2) 4 (3) 2 4 3

7. Who among the following sits third to the right of E 2
Fr=iffed 7 & &9 E & ad I =W @) Yot &0
(1) ¢ ) A SHOR: @) F

8. Study the following arrangement carefully and answer the questions given below :

387 876 176 285 721 937. In cach number, when we added 1 to each odd digit and 2 is
subtracted from cach even digit, then which number will be lowest ?

Frtfafaa saeer @ emgEs steram &t ok 9 Ru o wedi & Sax

387 876 176 285 721 937 ¥ WA §, v &9 wAH A 3w A 1 e ¥
3 uAF |9 Sih q 2 wer ¥, A DY & we ged 6 anl ?

(1) 387 (2) 876 : (3)_ 176 (4) 285

- BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D) ' P.T.O.




9. IfGOLD is written as IQNF, How WIND can be written in the code ?
af GOLD &) IQNF Ryen smem B, @ WIND @ fpa wepre fer@n o @ear &
(1) YKPF (2) VHMC (3) XJOE (4) DNIW

10. IfRED is Coded as 6720, then how GREEN would be Coded ?
ik RED & 6720 Rrar strar ®, @ GREEN @Y fra et fer@r stem 7
(1) 9207716 (2) 1677199 (3) 1677209 (4) 16717209

11. If in a code language "ORGANISATION" is written as "CBDWLQJWYQCL" and
"OPERATION" is written as "OXFBWYQCL", how is "SEPARATION" coded ?

i % FHe AT § "ORGANISATION" @i "CBDWLQIWYQCL" R sirer @
S "OPERATION" % "OXFBWYQCL" fwar siar 2, & "SEPARATION" &t
9 TR frar st 2 | :

(1) EJXEBEYQCL  (2) IFQYWBCXQL

(3) JFXWBWYQCL : . (4) QCLYWBFXIJE

12. How many triangles are there in the following figure ?

e el & e Brger 8 2

(1) 18 @) 12 20 14 @ 16

13. 10 years ago, a father's age was 3 ahd 1/2 times that of his son, andll‘O yrs frbm now,
the father's age will be 2 and 1/4 times that of the son. What will be the sum of the ages
of the father and the son at present ? bt , :

(1) 100 yrs (2) 110 yrs 2 4E)) 115 yrs (4) 120 yrs e
10 a9 =, @ﬁﬁﬁ@@@ﬂ%gﬂaﬁraﬂgﬁﬂ T e, eﬁ'{aqaé 10

ag 9, ﬁmﬁeﬂggaraﬁraﬂga?rzl g:ﬁsﬁruaﬁqmﬁﬁmaﬁ'fgﬂaﬁr
aﬂgaﬂ&lﬁrwéﬁm?

(1) -100 Y - 2) 110y, (3) 115a§ 4) lzoapsf
BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)
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14. The average of 9 numbers is 40. If the average of the first five numbers is 38 and that
of the last five is 50, then what is the fifth number ?

9 demell @ ofaa 40 B 1 afe uysel dfm denstl @ sfaa 38 B oehw sifem
gra @1 efr@a 50 &, a uradl derr @ § 7

(1) 90 (2) 84 (3) 78 (4) 80

15. Rs. 820 is divided among 6 men, 8 women and 12 boys in such a way that every
woman gets an amount equal to that received by one man and one boy combined and
that every man gets one and half times the amount received by a boy. What is the total
amount received by 8 women ?

(1) Rs.400  (2) Rs. 300 (3) Rs. 240 (4) Rs. 380

820 ®I4 &I 6 FHUl, 8 Aiewwell X 12 wewi & 4w W d¥E e T T H
TE Afedl B Th 59 IR U wgd @ [Heeh] Bl i B awEe i
Pl 8 Sl 9% G869 &H U dgh i Hen ART &1 3¢ AT e T8
Aiearel Hl Ha fha-r T el ?

(1) S0 400 (2) 50300 . (3) To 240 (4) S0 380

16. Select the set in which the numbers are related in the same way as are the numbers of
the following set :

N :
(3,24, 4)

(1) (6,35,11) : “(2) (2,30,8)
(3) (12, 84,4) 4) 4,72,9) .

17. Which two signs should be interchanged to make the given equation correct ?
14+4+5-18%x2=25

(1) +and + (2) x and + - (3) xand- (4) +and x
Rw g @ A wet I & R B @ Rl B e seer e ?
14+4+5-18x2=25 i d .
(1) + 3T+ (2) x SR+ | (3) xR - (4) + TR x

* BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five YL)SET-Y)D) = "P.T.O.
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18. If it is possible to make only one meaningful word with t'hc 3.rd. 6t11, 8th angq o,
letters of the word 'COMPLIMENT, which would be the third letter of the worg fites
the left ? If more than one such word can be formed, give "Y' as the answer, |f 10 sugy,
word can be formed, give 'Z' as your answer. |
o 'COMPLIMENT s & dieR, B3, omed ol T8 Sl § By o
Al e g W D, A w1 AT & e SHE BI-A AT ? Ry o
q o A or w9 G E, 41 oox @ w9 A 'Y AN AR W B g
& o wWebar B, O o & w9 H 2 A '

(1) Y @) T (3) 1 @)z

18. A person starts walking from point G. He walks 10m north and reaches point H. Frop

point H, he walks 7m in the east direction and reaches at point K. From point X, he
walks 6m south and reaches point Y. Now he takes a right turn and walks 4m to reach
point B. After reaching point B he starts \-valking‘in the south direction and reaches
point M, which is east of point G. What is the shortest distance between point B and
point M ? ‘

(1) 6m (2) 7m G (3) ‘4m.' (4) 3m

@%%G%W%W%lﬂgmtﬁawaﬁaﬁrw%eﬁ?
ﬁgqu@am%nﬁgH%,’aggéﬁwﬁ7%{%%@?%@1@1?
qgaw%nﬁgKﬁ,aa6tﬁa€f%waﬁaﬁTm%aﬂTﬁgYw%am

%uaﬁaamigsw%aﬂ?ﬁngqg*aﬁ%m4rﬂaaw%|ﬁ3B
W UG H A& T8 W@eT e F o g www $ i

GﬁﬁgG%Qjﬁ%lﬁgBeﬂTﬁgM%aﬁawiﬁﬁgg;zW%
(1) 6#i=x 2) 7 (3) 4 Hex (4)3‘%_{'
20. Which number in the given series is incorrect 9
& e § A e TR ?
11, 30, 67, 120, 219, 346 |
(1) 11 2) 120 #4 (3) 67 o i

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five_.Yf.)(SET-le(D) :




21. Who is known as the Iron man of India ?

(1) Sardar Vallabhbhai Patcl (2) Subhash Chandra Bose

(3) Jawahar Lal Nchru (4) None of the above

HRA B g goy & w9 A fhd ey s 8 2

(1) T@™R GeeryqE gl - (2) gy == 9|

(3) SEEX A ATH (4) IUdE H @ FHrg Tl
22. Which Chinese traveller came to India during the reign of Harshavardhan ?

(1) Fa-Hein , (2) Hiuen Tsang

(3) Hikaru (4) None of the above

eads B mEde H whlF @1 A aEl wRe oTEr or ?

(1) g (2) &= & T

3) femrs (4) Sk H | FHrg TG

23. Which India mass movement began with the famous 'Dandi March' of Mahatma
Gandhi ? | |

(1) Khilafat Movement

(2) Quit India Movement

(3) Non Cooperation Movement

(4) Civil Disobedience Movement _

qETAT Mt & g (IS A & W ARG BB AT I AR IS
gar ? ; -

(1) Reamha eTiRe™

(2) 9IRS BIFT 3T

(3) TSR ST

(4) A g ST STt

24. Who wrote Vande Matram ?
(1) Rabindranath Tagore (2) Bankimchandra Chatterjee
(3) Sharat Chandra Chattopadhyay (4) None of the above

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D) i opato.



g " o krar ?
(1) G TR (2) sfpTez Tesit
(3) RO €% IR (4) SUAh 7 Qq HE T8

25. In which year the Indian National Congress was established ?
WRAE T BT B e Ha ad g o ?
(1) 1857 (2) 1906 (3) 1885 (4) 1881

26. Who was the last ruler of Lodhi Dynasty ?

(1) Ibrahim Lodhi (2) Sikander Lodhi

(3) Bahlol Lodhi " (4) None of the above
el 91 o Sifow rEE D or ? |

(1) sefen el - (2) FHeReX el

(3) T @ @) s d A B

27. Which Fundamental Right can not be suépcnded even during an emergency ?
(1) Right to Speech
(2) Right to Religion
(3) Right to Equality
(4) Right to life and personal liberty
mrﬁmaﬁwﬁaﬂm%aﬂ?sﬂﬁaﬁa aﬁ%msnm% ?
(1) AIEeT &1 HATTRR
(2) g 1 SRR
(3) THT &I SAPBR
(4) Sfaw X ARFIT w=dr & eﬂﬁ“amt

28. Who appoints the Chief Justice of In’dia ?
(1) The President '3
(2) The Prime Minister
(3) Parliament
(4) None of the above

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)




WIRE e saprier @ BAiRs @ grar &7
(D) iy
(2) wwisy W=l
(3) dug
4) Suds 7 A B
29. Who was the Chairman of the Drafting Committec of the Indian Constitution 7
(1) Rajendra Prasad (2) Tej Bahadur Sapru
(3) C. Rajagopalachari (4) B.R. Ambedkar
ARG ARy @ AdRr affo & oetemer @ g 7

(1) TEi% S (2) T =eIgY Y,
(3) do TEEUEIET (4) dto aTRo 3TER

30. Which of the following describes India as a Sccurity State ?
(1) Fundamental Rights
(2) Preamble

(3) Directive Principles of State Policy

(4) None of the above S .

Frefifa & & o W B o GO T4 B w9 A affa wwr § 2
(1) *iferes siferpre |

(2) TEAE=T

(3) T W & Fee R

(4) I A F P T

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yf;)i(SET-Y)/(D)- TSR eu - Y PITL O
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31. What is the name of the tax introduced by Indian P
indirect tax system in India ?

(1) Sales Tax
(2) Value added Tax
(3) Goods and Service Tax

(4) None of the above

RO A IR HT uOe &y
REURCO i n g

(1) o=l e
() g9 afitflg =% |
(3) AT &R [ar W% X
(4) SRIH & q i 7

32, Which of these gases is
Pollution Act by the Government ?
(1) Sulphur Dioxide
(2) Carbon monoxide
(3) Nitrogen Oxide

(4) All of the above

q@wﬁwaﬁtﬁuweﬁﬁﬁw%amﬁa

D

arliament in 2016 (o unify the

T B F KT 2016 F wdm waw =

not permitted to be released by the prevention and control of

Waﬁrsﬁﬁ%m%ﬁ
Bigd # oAy 7@ e ? i . i

(1) 9T SZfiaEs

(2) &HEH ﬁﬁram
(3) AEZT STfrAES

(4) IIU=H A

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)
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} 33. What is Lunar Eclipse ?

‘ (1) When Sun is between Earth and Moon
(2) When Earth is between Sun and Moon
(3) When Moon is between Earth and Sun
(4) None of the above
(1) ot g4 geft ofe =iz & i drr B
(2) 5T gedt g ol =iz & i ot B
(3) 5/ =z geft ok gd & dra dr B
(4) 3Ul=h H G A TE

34. What is the theme of G20 Summit held in India ?

(1) One Earth-Onc Family-Onc Future
(2) Fighting Poverty
(3) To bring the Wor]d togcther
(4) All of the above
A # e G20 Rre aer & e w2 ?
(1) T gedl-ush giem-ush afae
(2) TEE @ wrge
(3) gffrar # uH Ty @
(4) 390<H A

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)
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35. In which year the "Beti Bachao, Beti Padhao" Campaign was launched by the

Govermemnt ?

ST=iw Zia “E8 F=ia, 38 Jere” SAtaE B ad 9= B mEr g1 7

(1) 2014 (2) 2015 (3) 2016 (4) 2017

35. What is the architectural style of the Ayodhya Ram Mandir ?
(1) Gandhara (2) Gothic
(3) Nagara (4) None of the above

—— -~ = -~ =
FE= TF FI27 T =II9d Sl =T 2 7

(1) 1= - (2) Mg
3) I T (4) Uik H § FZ T3

37. Which Indizn bowler is bestowed with Arjun Award by President Draupadi Murmu ?
(1) Mohammad Shami ’(2) Jasprit Bumrah
(3) Arshdeep Singh (4) Deepak Chahar

TZEE 219 55 9 HE aad ?iaam H AGT IR d T ﬁmr g7

(1) Frz=7= o1 (2) ST grmz
(3) BT fifz (4) U =TT

38. Which State/UT has launched stha Mobxlc App aimed at safety and secunty of

women 7
(1) Kerala (2) Andhra Pradesh
(3) Rajasthan | (4) Haryana

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)SET-Y)/(D)
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Bha wow/ds e e A wlRanell @ gan st @ R Aaea o

o frr 7
(1) (2) arier sRdgr
(3) TS (4) sfrzron

39. Which State announced a monthly pension of Rs. 10,000 for the Padma Awardees from
the State ?

(1) Haryana | (2) Punjab

(3) Rajasthan - (4) Kerala

IEH IR fasanelt & e | T 10,000 599 AR Yo Hroarem
? 7

(1) eRaen 2) doTe

(3) TR | ) I

40.V Which State celebrates Shigmo Festival ?

(1) Goa (2) Karnataka

(3) Madhya Pradesh (4) None of the above

R Hekdd H-AT 5T TR S 7 |

(1) (2) aite

(3) AT U9 (4)3@%9!'%@%?&
4. T # gt A g g w9 B

(1) aTard (2) w=ETE

@) @=ma (@) T

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D) Ll P.T.O.
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42, ‘WY’ 9= H1 e 9= ©

(1) gzt (2) eted

(3) FHemed (4) A
43. TT v w1 i = Y

(1) & (2) a1gH

3) ®m | S (%) [T
44. ‘A sreE F BHe-ar 99 |

(1) = p () fag

(3) TrgHw | (4) serhEE
45. ‘I o= # TEe eol, O W@ o 9@ aa B — 3aH SR ©

(1) o7 (2) 9

(3) erpE (4) ST

46. & g GHY ST B, A1 AfRT &
(1) B 9X 91T AT @ &1
Q) i@ =T & o ¥ B
(3) °TeT UX T U ST B
(4) 98 Raa s 21

47. wﬁ%aﬂaqwmgﬁzs%a@zs%

O LI GEINERETY (D) Rrenfrar frsm

(3) =T T fE  (4) AfrfeRer T
48, ‘TR’ o= ShiA-aT fasier 'aa%aﬁrr ¥ ?

(1) TeTEaT=eh - () ©yaEs

(3) dE-HS _  (4) s,

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D) -



49, SO S qany @, vel) ol sy
e @ wsr A0, & wlr afx oy
= G "l N o w7
(D) =i W ‘ (2) daqym efme
(3) RAmerey oy (4) argeger T
50, “trafimra” W g e mis § o7

(1) 9 (2) 11 (3) 6 4) 7

51, “‘mleay” sty ot wdl div-faeda dv

(1) & + degy (2) & + g7
(3) wiRY + geay 4) Y + O +aT

52, “‘gEIAr” W SRRV A gite A -t W weard ¥ ?

(1) wWrEaarEs (2) snfcraras
(3) =afxraras (4) TEaTah
53. B, [, wig, @l - A wdArT P ger & FdEm AW o €
(1) dear=es (2) Ty gTEh
(3) Fewg aras ’ (4) arfeTa ar=es

54. ‘NSl ux ugEs} @ fp ol 9= @ T — g% g Sar aeg § 7

(1) QIR gy (2) 9T G

(3) ffra g (4) InEdYEEH _
55. I QoI FRA AR UG &) ‘B wEr omen ¥, afr Afeer s RR, o X

(1) wfafa=h (2) wafaEh

(3) @ (4) wafx

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D) P.T.O.
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56. g 9 AR T 8, 3Q Fed ©

(1) STareh (2) srEm=Th
(3) aga (4) Afare

57. Y R & szl & w9 F Fu @ R oy o
(1) 14 FadsT 1949 9

(2) 26 SH=E, 1950
(3) 15 3T, 1947 &y
(4) 14 311, 1952 %y

58. “aﬁﬁ@ﬁ%mﬁqﬁmm”—wmﬁﬁmmﬁq%:
(1) dsm QA9 ‘ 2) R 2
(3) wEHIHS A (4) o= 3
59. m@mmﬁaﬁmmﬁaﬁwzﬁw%mﬁ
e At mr ¥ 7
(1) 18 ) 26 i @) 15 4) 22
60 a,awa,aaﬂ‘fwwﬁ%aﬂmwwmﬁ%?
(1) =gz (2) = (3) &= 4) =4
Directions -

(Q. Nos 61 to 65). In each of the following questions an idiom/phrase is
given. Choose the most appropriate

option’ which best expresses the meaning of the
idiom/phrase. ‘ ’ ! ;

61. Callitaday:
(1) Daytime
(2) Stop working on somclhiné‘
(3) Open minded o

(4) Straight forward

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)




62. Lctthe cat out of the bag,

17

(1) Free the cat (2) Solve the riddle

(3) Allow a secret to be known (4) Bell the cat

63. Jump on the bandwagon,
(1) Between the rails
(2) Join the movement
(3) Overwhelmed at the moment

(4) Join a popular activity

64. Qucer the pitch.
(1) Spoil a plan
(2) Reveal sccret Information
(3) Unexpectedly
(4) hesitantly

65. Rule of thumb.
(1) Forecast the future
(2) broadly accurate guide or principle
(3) disorder
(4) Suspect trickery

In Questions 66 to 70, Choose the option which is opposite in

given word,
66. Abrogate
(1) Approve (2) Abolish 3) _Eradicat.c
67. Apostate

(1) deserter (2) traitor ~(3) loyalist

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)
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(4) Plummet

(4) affordable
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69.

70.

Bequest

(1) Endowment (2) Request (3) Beliel (4) Withdraw
Convulse

(1) Calm (2) Quiver (3) Counsel (4) Regale
Ossity

(1) Rigid (2) Shrink (3) Shudder (4) Soften

In Questions 71 to 75, Choose the option which is nearest in meaning ( synonym) of the:

given word.

71.

72.

73.

74.

75.

76.

Panache
(1) flamboyance

(3) Pathetic

Resuscitate

(1) Destroy (2) Annihilate

Scourge

(1) blight (2) boon

Trudge
(1) Whisk (2) Drift

Wane ot
(1) Brighten (2) Decline

Study of languages is called :
(1) Philology

(3) Stoic

-

(2) Spiritless
(4) Gutless

(3) Reviile Sull (4) Exterminate
(3) afflict (4) sgcred

() Fléat 204 (4) Stum.b'lév' -

»(3) Ascend | (4) Enlargé

- (2) Epistemology

(4) Celibate

BLBHJ-EE-June, 2024/(LL.B.(Hons.) _'Fi\_w_eY_r.)(SET-Y)/(D)



77. Onc who copics from writers :

(1) Plagiarist (2) Menagerie (3) Scullery

78. Onc who has an over exaggerated feeling of being important,

(1) Omniscient | (2) Omnipotent

(3) Narcissist (4) Agnostic

79. Involving or showing violence or bloodshed.

(1) murder (2) Abdicate (3) Gory

80. What is the Plural of 'Oasis' ?
(1) Oases (2) Osees -~ (3) Oaeisis

(4) Abattoir

(4) homicide

(4) Osais

19

81. Which among the following is not a borrowed feature of the Indian Constitution from

The Constitution of the United States of America ?
(1) Fundamental rights
(2) Fundamental duties

(3) Preamble

, (4) Impeachment of President

Iﬁaﬁqﬁwﬂﬁqﬁaﬁﬁm%maﬁﬁm%

A ¥ SuR FEF e e R 7
(1) AR ST

(2) Hiferes wHeteq

(3) &

(4) IOl &1 HEEeT

BLBHJ-EE-June, 2024/(LL.B.(Hons;) Five Yr.)(SET-ir)/(i))
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82. Which of the Constitutional Amendment Acts of The Indian Constitution reduc

minimum voting age from 21 years to 18 ycars ? ¥ e
(1) 52nd Constitutional Amendment Act (1985)

(2) 86th Constitutional Amcndmént Act (2002)

(3) 92nd Constitutional Amendment Act (2003)

(4) 61st Constitutional Amendment Act (1 989)

R dRem & Be @t detee et
q g 18 af & & ? : |

(1) 52ai | dsie= st (1985)
(2) 86a Wi Welew wiffEE (2002)
(3) 92ai wRram welew atfufras (2003)
(4) 61af WA Hee AT (1989)

~IATH "= g 21 o

83. "Equality before the law and Equal protection of law" under Article 14 of The

Constitution of India is available to whom ?

(1) Citizens (2) Non-citizens

(3) Both (1) and (2) (4) None of the above

ARG G@Qg9 & D% 14 § aeq

(1) AFRH

‘LT %waquma?ﬁw?ﬂ

Q) RTRE
@) (1) &R @ & ORI R

84. The Protection of Civil Rights Act, 1955 was enacted

to give effect to which hrovision
- of The Constitution of India ? : j : ; R

1) Article 17 () Atticle 24
(3) Atticle 25 - (4) Atticle 31

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)SET-Y)/(D) -
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85.

86.

21

ARE @R gy afafram, 1955 sea @ dfaosr & g g@arr @
TR R D o sy fnar sy ar 7

(1) srgesz 17 (2) arg=E 24
(3) 3=V 25 (4) aTsgeRa 31

A command asking a public authority to perform its public duty is called the Writ
o} R :

(1) Certiorari (2) Habeus Corpus

(3) Mandamus ~ (4) Prohibition

el wdwifoes wifteseor @ ot it wder Fwm @ g wEe A
STRIT B e, Re =er s B

(1) ISgor (2) =<1 FcTeiiEeT

(3) TR | (4) FaEy

"To protect and improve the natural environment including forests, lakes, rivers and
wildlife and to have compassion for living creatures” is, for every citizen of India :

(1) A fundamental duty
(2) A fundamental right
(3) A legal right

(4) None of the above

“g9, i, Wehwﬁmﬂ@mW'aﬁmaﬁrgwm'
qen stifaa wferdt & afe <3 @’ Wa‘smﬂmﬁm%ﬁm%

(1) o Hiferss =helen
(2) u® Hifcrw arfeemrR
(3) T HrEF stfeenT
(4) SUUH H O Fg Adf

BLBHJ-EE-Junc, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D) ‘ P.T.O.
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87. In some cases, a crime is constituted even though the act is not done with guilty
intention. These are cases of ?
(1) Vicarious liability
(2) Liability of Staté
(3) Strict liability

(4) Joint liability

HB AW N, 7S & B AW R A A gy T A, STUNE H TeA fHA
ST R Y e B 7

(1) st =i
(2)Tmréra1ﬁ4<—cr
(3) weR TRE
(4) € I

88. Which of the following is presumed under law to be 'Doli incapax' to commit a crime ?

(1) A child under 7 years of age -

(2) A child of under 10 years of age

(3) A child above 7 and below 12 years of age
(4) A child between 10 and 14 years of age

Wﬁﬁ%%%ﬁj%aﬁmaﬂ%%m aaﬁgq%ﬁwm
STar B 7 .

(1)7a¢ammwm
(2)1oaq‘aa;crangzma%a1 , ‘ .
(3)7aéaaﬁé:zsaﬁrlzaé%amangaara—cn
(4) 10@(14aréﬁa:rrg%%ﬁaemaa1

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)
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po, Inense oba fiee fipht between two partics ;
(1) Rightto private defence is available to both parties
(2) Riphtto private defence is available to individuals against individuals
(3) Noright of private defence is available to cither party
(1) Right of private defence is available only to onc party
QA il & A g wed @ o iy
() ol aam@ w5 sifrse Q0 aall @) auerer B
(2) ol |aa @ sifome afmll @ fes afedt ® Sueer @
(3) ot ot qer =Y Frof g @ H sifeEr SueEy TE B
(4) 7ol gana @ Sfas Saer & qer FH Iucrey 8

90. The term "Homicide" in criminal law means ?
(1) Killing of @ human being by another human being
(2) Accidental death in shipwreck
(3) Killing of an animal by human beings
(4) Killing of the animal by another animal
g g A Cwer wm a o ¥ 7
(1) el 7= A gEr g e

(2) srerr geer i gHemasw 7Y
(3) fopeit e mry fail g @ wer

‘ (4) foelr a1/ 9yl BT 9 el
BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)
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81. "A’ promises to marry 'B' his student and inducted her to cohabit with him. He has

given her a false assurance of marriage and also fraudulently gone through certain
ceremonies of marriage. making 'B' believe that she was a lawfully wedded wife of ‘A,
Later "A" refused to recognize her as his wife. What offence has been committed by
AT 9

(1) Rape
(2) Adultery
(3) Outraging the modesty of a woman

(4) "A'has committed no offence

‘A’ ST R B A R #)a S au AT § awm Sa of9 § @ &
e 3G @xar B SEY o9 Raw @ ger ovaed /A ¥ fae @ ge
?ﬁﬁ&i@é@aﬁ% R B @ fiear & T B R ag 'A' 8 Yefrs
ﬁmﬁﬁﬁ%laﬁﬁwﬁa‘émﬁ%wﬁﬁﬁwmﬁ
aﬁ"ﬁ?mﬁmlwﬁaﬁ?—mmm%?

(1) TThR
(2) =FHER
(3) Bl iR T ST ST T
@) ‘A" ¥ B orra T BT R
92. Hindu Law s :
(1) Civil Law - _ (2) Personal Law

(3) Criminal Law (4 Constitutional Law

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)SET-Y)/(D)
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g LT ® -
(1). RafyeT g

(2) 9EART BRI
() STIE g

(4) dAqforep g

93. The marriage may be solemnizcd between two Hindus if :

QY] Bridgegroom has completed the age of 21 years and Bride has completed 18 years
of age

(2) Bridgegroom has completed the age of 18 years and Bride has completed 21 years
of age

(3) Bridgegroom has completed the age of 21 years and Bride has completed 21 years
of age :

(4) Bridgegroom has completed the age of 18 years and Bride has completed 18 years
of age

a%gaﬁ%éﬁaﬁawm:rém%uﬁ

(l)aTq&Tafﬂaﬁaﬁeﬂggﬁmaﬁ%ﬁa&%waﬁaﬁaﬂggﬁaﬂ
NI : :

(2)€Rtra¢5r18wﬁaﬂggﬁwﬁ%aﬁ1agﬁ.'2laéa%ewggﬁm
SIS '

(3)attra¢%21aéa%amgg&meﬁ%aﬁ?agﬁzlaéﬁawg@w
SigE |

(4)aTtra¢9r18a&aﬁaﬂggﬁmaﬁ%aﬁ?ag%18ﬁaﬁmgﬁaﬂ
N1

94. What are the main sources of Muslim Law ?

(1) Quran ‘ (2) Sunnat and Ahadis
(3) Ijma and Qiyas (4) All of the above

BLBHJ-EE-J une, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D) - LSRG A PLT. O,
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9s.

96.

97.

R w5 @ qer aa g ¥ ?

(1) U= (2) gera ofr el
() T AR frara (4) gudrn

What is the age of puberty for Muslim Marriage ?

(1) 12 years (2) 13 years (3) 14 years (4) 15 years
qRe faarwe @ Rig daw @ ey w7
() 123 (2) 13 (3) 14 ad (4) 15ad

Competency to contract relates to :

(1) Age of the parties

(2) Soundness of mind of the parties

(3) Both age and soundness of mind

(4) Intelligence of the parties

I HH B G HEq Feftm g 7

(1) 9ati @ oy '

(2) 9&El S AHRS TRET

(3) &g IR AFRA® w@wIar aEt

(4) el & gieHs

"Consensus ad idem" under a contcact mean ?

(1) No agreement can have more than one meaning
(2) To agree the same way

(3) To agree on the same thing thhthe same sense

(4) To agree on different objects in the same sense

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr.)(SET-Y)/(D)
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iF

SUEE b aterlar ot a g B |

(D) 1w aoehay ar e iy e oy b d) e
(2) & e A e B
(3) W B wner v um ool i gmne B

() uem By a0y IETERY Wﬂ;‘l'ﬂ U e B

98. The Law of 'T'orts hay developed mainly through ¢
(1) Customs and precedenty (2) Judicial decisions
(3) Enactments (4) All ol the above

AL H B g A e wmen 3 i Bot w7
(1) afr-Fensr s ferndt (2) =nfgen oty
(3) arfuferm (4) Budn as

99. The doctrine of vicarious liability applies when thereisa ....... 6o D i
(1) Relationship of principle and agent

(2) Relationship of partics

(3) Relationship of master and servant

(4) All of the above

Hiafees @foe @ fawia aa arg o B oo . ag
(1) fasia sl usfe @7 e |

(2) well =1 Hey

(3) @rit T Pgek w1 ey

(4) IUA<H gl

BLBHJ-EE-June, 2024/(LL.B.(Hons.) Five Yr,)(SET-Y)/(D) P.T.O.
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100. The coneept o law largely depends on the

(1) Social values

(2) Accepted norms

(3) Behavioral patterns of a particular society at a given time

(4) All of the above

FELT B IAURET B 88 T 30 G O FE D
(1) smifes g

(2) g AFEs
(3)%@%%%13%@%%%%%3&‘
(4) STR6 af '

BLBHJ-EE-June, 2024/(LL.B.(Hon‘s.')vFivé:Yr.)(SET-Y)/(D)
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